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1. KIROKESERRES

1. 1 £AIIKERELTE

1. 1. 1 EE8H =HFHw

= KMnO, bfty | KIGERE] —#

wE | F | pHE|BOD ¥ | MPN iIES]

HezEFE | s | A | aooml) [ (ImL)
H. 11 3.0 8 7.7 1.3 0.02 4.0 920 110
12 4.0 9 7.8 1.2|  <0.02 4.0 1200 180
13 2.7 9 7.9 1.1 <0. 02 4.0 350 310
14 4.7 11 8.2 1.3 <0.02 4.2 740 380
15 2.2 8 8.3 1.4 0. 02 3.8 500 100
16 2.4 8 8.1 1.3 0. 02 3.6 460 210
17 2.8 9 8.4 1.3]  <0.02 3.7 700 140
18 1.6 7 8.6 1.1 <0. 02 3.9 4500 320
19 1.8 8 8.4 1.1 <0. 02 3.8 2900 160
20 2.1 7 8.3 0.9 <0.02 3.7 400 150
21 2.3 8 8.3 1.1 <0. 02 3.6 570 94
22 3.7 10 8.4 0.9 <0.02 3.9 540 220
23 2.5 8 8.2 .ol <0.02 3.8 680 110
24 2.9 10 8.3 12| <0.02 4.1 1800 190
25 3.0 9 8.1 1.2|  <0.02 4.5 3600 270
26 1.4 8 8.5 1.1 <0. 02 4.0 870 390
27 2.1 8 8.5 1.3 <0.02 3.9 1500 300
28 3.1 10 8.3 1.3 <0.02 5.0 2100 700
29 3.3 9 8.0 1.2|  <0.02 4.4 1000 140
30 3.2 9 8.1 1.2]  <0.02 3.9 860 350

1. 1. 2 BE) BHIIAE

TUEZT KMnO, Sty | RIGERE|  —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | W& s | Al | aooml) [ (ImL)
H. 11 3.0 7 7.6 0.9 0.03 4.2 <0.02 1600 690
12 2.1 8 7.7 0.8 0.04 4.5 0. 03 380 750
13 3.3 10 7.7 1.0 0. 03 4.1 <0. 02 4300 8900
14 2.7 10 8.0 1.2 0.03 4.2 <0.02 590 730
15 4.0 12 7.9 1.4 0. 02 5.3 <0.02 2000 1400
16 3.0 8 8.0 1.4  <0.02 3.8  <0.02 3500 940
17 3.7 10 8.1 1.2 0.03 4.3 <0.02 640 440
18 4.5 9 7.7 1.0|  <0.02 4.5 <0.02 2800 300
19 2.9 9 7.9 1.2 0.02 4.3 <0. 02 4500 540
20 2.9 9 7.9 1.1 <0. 02 4.4 <0.02 3600 500
21 2.9 9 8.0 0.9 <0.02 4.6 <0.02 1000 650
22 3.5 10 8.0 1.0|  <0.02 4.7 <0.02 2600 310
23 3.1 10 7.7 1.0o|  <0.02 4.3 <0.02 1700 580
24 3.9 10 8.0 1.3 <0.02 4.9 <0.02 2800 140
25 4.1 10 7.9 1.1 0. 02 4.7 <0.02 1200 360
26 3.9 9 8.1 0.8 <0.02 4.4 <0.02 1100 370
27 2.2 9 7.9 1.0 0. 02 4.3 <0.02 1400 550
28 2.8 12 8.0 1.3 0. 02 4.9 <0.02 2600 390
29 4.2 11 7.7 1.1 <0. 02 5.1 <0. 02 1400 290
30 4.3 12 8.0 1.4]  <0.02 5.2] <0.02] 830 210
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1. 1. 3 FRII HES

T/EZT KMnO, bty [ RIGERE| —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | & s | Al | aooml) [ (ImL)
H. 11 3.1 10 7.5 1.6 0.12 5.2 0.03[ 24000 18000
12 3.8 11 7.5 2.0 0.12 6.1 0. 03 71000| 24000
13 3.9 15 7.5 1.8 0.11 5.7 0.03[ 55000 14000
14 4.5 14 7.7 2.2 0.12 5.4 0.03[ 38000 16000
15 4.5 13 7.7 2.1 0.07 5.5 <0.02[ 67000 11000
16 6.4 16 7.7 1.7 0.11 5.7 <0.02[ 93000 17000
17 3.6 11 7.7 1.4 0. 09 4.9 <0.02 18000 6300
18 5.2 10 7.6 1.5 0. 09 6.1 <0.02| 58000 8800
19 4.9 13 7.6 1.3 0. 08 5.2 <0.02| 27000 4200
20 4.1 11 7.7 1.0 0. 06 5.0  <0.02 16000 3100
21 6.2 15 7.7 1.0 0. 06 6.2 <0.02| 20000 7900
22 5.0 12 7.7 1.0 0. 05 5.1 <0. 02 10000 3700
23 5.2 12 7.6 1.1 0. 04 4.8|  <0.02 9300 2200
24 5.2 12 7.8 1.4 0. 05 5.2 <0.02 10000 2400
25 4.9 11 7.6 1.1 0. 06 5.0  <0.02 19000 3300
26 5.1 13 7.9 1.2 0.07 5.0  <0.02] 26000 7900
27 3.8 11 7.6 1.0 0. 05 5.1 <0. 02 13000 5700
28 6.2 16 7.6 1.5 0. 06 5.9  <0.02[ 140000 35000
29 4.8 14 7.7 1.1 0.04 5.5 <0.02 11000 4100
30 5.5 15 7.7 1.3 0. 04 5.3 <0.02 9300 2400

1. 1. 4 KZE)N #=HE

T/EZT KMnO, Sty | RIGERE|  —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | & s | Al | aooml) [ (ImL)
H. 11 6.3 18 7.4 1.6 0.09 7.1 0.03[ 22000 11000
12 4.4 16 7.5 1.9 0.11 6.6 0. 02 9100 12000
13 11 24 7.4 1.8 0.11 8.5 0.02[ 36000 21000
14 4.8 19 7.7 2.0 0. 09 7.3 0. 02 14000 13000
15 8.6 25 7.6 1.6 0.07 8.0  <0.02| 20000 7300
16 15 31 7.6 1.8 0. 06 9.0 <0.02| 30000 9800
17 4.9 16 7.7 1.4 0.07 6.8  <0.02 6000 3600
18 8.8 19 7.6 1.1 0.04 8.2  <0.02] 41000 4100
19 9.1 21 7.7 1.1 0. 03 7.0l <0.02 17000 4000
20 6.9 18 7.7 0.9 0.03 6.7  <0.02 12000 2400
21 10 23 7.6 0.9 0. 02 8.0 <0.02[ 65000 9000
22 6.2 16 7.6 0.8 0.03 6.5  <0.02 6100 5000
23 10 22 7.5 0.9 0. 04 7.2 <0. 02 17000 5000
24 6.9 16 7.7 1.0 0. 04 6.3  <0.02 6300 1600
25 5.4 13 7.7 0.8 0.03 5.7 <0. 02 8500 3900
26 14 29 7.7 1.2 0.03 8.7  <0.02 9600 25000
27 5.1 16 7.6 0.8 0.03 6.5  <0.02 8600 4200
28 15 36 7.6 1.1 0. 02 9.1 <0.02| 37000 23000
29 8.7 21 7.7 0.8 0. 03 7.5 <0.02 16000 8100
30 4.6 16 7.7 0.8  <0.02 6.1 0. 02 2800 3300
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1. 1. 5 #EJ)l =HIE

TYEZT KMnO, bty [ RIGERE| —

WE | A | pHfE| BOD ¥ | MPN iIES]

HezEFE | s | A | aooml) [ (ImL)
H. 11 3.8 14 7.3 2.3 0.23 8.2 0.05[ 40000 21000
12 4.4 15 7.3 2.3 0.31 8.2 0.05[ 29000 32000
13 8.1 23 7.2 3.0 0. 40 9.1 0.06[ 220000] 92000
14 12 33 7.5 5.3 0.35 12.5 0.06[ 100000[ 82000
15 7.9 21 7.4 2.4 0.24 8.5 0.03[ 320000] 52000
16 16 36 7.4 2.3 0.24 8.8 <0.02[ 43000 23000
17 3.3 14 7.4 1.6 0.12 7.3 <0.02| 31000 6700
18 20 26 7.4 1.5 0.14 11.2]  <0.02] 53000 6700
19 4.6 16 7.4 1.9 0.24 7.6 <0.02[ 39000 5400
20 3.7 14 7.4 1.3 0.13 6.5  <0.02[ 22000 7700
21 7.5 19 7.5 1.3 0.11 7.7 <0.02| 28000 17000
22 3.6 12 7.4 1.1 0.13 5.9  <0.02[ 29000 10000
23 5.7 13 7.4 1.0 0.07 5.3 <0.02] 28000 8700
24 3.5 11 7.5 1.0 0. 08 5.7 <0.02[ 20000 5800
25 3.7 12 7.4 1.0 0.08 5.7 <0.02 15000 9400
26 30 45 7.4 1.0 0.08 6.0  <0.02 18000 6900
27 21 37 7.5 1.2 0.07 6.8  <0.02[ 35000 14000
28 8.3 20 7.5 1.5 0.12 7.1 <0.02| 680000 100000
29 6. 4 15 7.5 1.6 0.12 6.7  <0.02[ 43000 11000
30 6.3 17 7.4 1.3 0. 10 5.5  <0.02 15000 8600

1. 1. 6 AN FEIIERER

T/EZT KMnO, Sty | RIGERE|  —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | W& s | Al | aooml) [ (ImL)
H. 11 14 37 8.3 9.2 2. 60 20. 1 0.64[ 480000 120000
12 43 50 8.4 8.6 1.92 22.8 0.40( 200000[ 110000
13 20 44 8.2 9.9 2.20 21.3 0.35( 270000[ 79000
14 7.7 32 8.1 8.1 1.85 19.0 0.27[ 120000[ 79000
15 6.9 30 8.1 5.4 1.52 16. 2 0.19[ 160000] 65000
16 13 41 8.1 8.5 0. 86 25.0 0.10[ 240000 60000
17 5.8 31 8.2 6.8 1.46 18.8 0.06[  70000[ 36000
18 26 39 8.1 4.3 0.36 17.8 0.03[ 240000[ 34000
19 7.4 29 8.6 3.7 0.24 14.3 0.04[ 110000[ 29000
20 5.6 23 8.7 3.3 0.22 12.6 0.02[ 62000 23000
21 13 36 8.3 3.8 0.35 13.6 0.03] 67000 36000
22 3.5 19 8.3 3.1 0. 36 11.2]  <0.02| 330000 22000
23 5.8 25 8.4 3.0 0. 58 10.9 0.03[ 130000] 22000
24 5.0 24 8.5 2.8 0.26 12.6]  <0.02| 130000 15000
25 5.2 22 8.8 2.8 0.11 11.1 <0.02] 99000 13000
26 11 26 8.3 2.7 0.23 13.5]  <0.02| 81000 55000
27 5.1 21 8.4 4.0 0.19 12.0 0.03[ 80000 42000
28 5.2 28 8.4 2.2 0. 09 10. 4 0.03[ 130000] 21000
29 4.4 18 8.9 2.9 0. 06 10. 2 0.04[ 38000 18000
30 3.5 16 8.7 1.8 0. 05 9.0  <0.02] 23000 11000
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1. 1. 7 BRI RIERER]

TYEZT KMnO, bty [ RIGERE| —

WE | A | pHfE| BOD ¥ | MPN iIES]

HezEFE | s | A | aooml) [ (ImL)
H. 11 5.5 28 8.5 8.2 0.96 20. 1 0.20[ 570000 100000
12 5.1 25 8.5 11.1 0.95 29. 6 0.22[ 380000[ 91000
13 5.6 26 8.0 6.5 1.30 15.3 0.17[ 240000 110000
14 8.3 33 8.5 8.5 0. 68 23.4 0.16[ 460000] 95000
15 3.4 24 8.6 6.5 0.44 19.4 0.15( 840000 100000
16 6.8 32 8.6 10.2 0. 40 31.3 0.03[ 170000 69000
17 3.2 21 8.9 12.1 0.21 30. 1 0.04[ 100000[ 23000
18 4.3 18 9.0 7.1 0. 08 22.4  <0.02| 85000 19000
19 4.8 23 9.1 3.7 0. 09 15.3 <0.02| 160000| 28000
20 3.5 19 9.2 4.5 0. 04 17.9]  <0.02| 27000 9200
21 11 32 8.8 6.2 0.12 20. 4 0.02| 67000 43000
22 2.9 17 8.9 3.1 0.19 17.3 <0.02| 87000 12000
23 3.3 18 8.9 3.1 0. 09 10.7|  <0.02| 39000 14000
24 4.0 21 9.2 4.6 0. 08 13.1 <0. 02 16000 6100
25 2.7 18 9.1 4.2 0.13 11.3]  <0.02| 27000 23000
26 4.3 20 8.8 4.0 0.14 10.8|  <0.02| 130000] 77000
27 10 57 8.6| 10.7 0.21 21.8 0.02[ 330000 55000
28 3.2 24 9.0 2.1 0.07 9.7  <0.02[ 28000 22000
29 4.9 20 9.0 2.7 0. 10 10. 1 <0.02| 22000 17000
30 3.4 22 9.2 2.3 0. 05 10.5]  <0.02] 26000 11000

1. 1. 8 X%l RIIESRER

%= KMnO, Sty | RIGERE|  —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | W& s | Al | aooml) [ (ImL)
H. 11 4.0 23 8.1 6.2 1.27 15.9 0.45[ 630000 140000
12 7.5 27 8.2 7.2 1.26 17.5 0.42( 320000[ 130000
13 9.7 33 8.3 8.2 0.99 18.2 0.28[ 290000[ 67000
14 5.3 29 8.3 6.3 0.98 20. 2 0.25[ 280000[ 100000
15 3.5 21 8.2 3.9 0.76 12.8 0.18[ 110000 110000
16 6.1 32 8.2 4.5 0.62 14.9 0.06[ 160000] 110000
17 2.6 16 8.6 4.0 0. 60 12.6 0.04[ 80000 41000
18 11 28 8.7 2.9 0.36 14.3|  <0.02| 67000 41000
19 6.8 24 8.9 3.0 0.21 13.6]  <0.02| 210000 45000
20 4.1 18 8.9 1.9 0.19 10. 1 <0.02| 30000 11000
21 8.7 27 8.5 2.2 0.18 13. 1 <0.02|  42000| 33000
22 2.6 18 8.7 1.7 0.19 10.0[  <0.02|  79000] 23000
23 2.9 16 8.7 1.7 0.16 9.2  <0.02| 35000 13000
24 3.7 18 8.5 1.8 0. 10 9.3  <0.02| 48000 9200
25 2.8 18 8.7 1.9 0.15 9.3  <0.02| 46000 52000
26 8.3 19 8.5 1.8 0.12 10.6]  <0.02| 220000 79000
27 6.5 22 8.3 5.3 0.13 13.4]  <0.02|  66000] 230000
28 2.8 15 8.5 1.6 0.12 7.8 <0.02[ 24000 20000
29 5.8 18 8.4 2.1 0.08 9.0 <0.02| 48000 43000
30 2.4 13 8.7 1.4 0. 03 8.6  <0.02] 66000 28000




1.

1

ZANKEREEE (DDF)

1. 1. 9 ZEI RIEKRER

= KMnO, bfty | KIGERE] —#

WE | A | pHfE| BOD ¥ | MPN iIES]

HezEFE | s | A | aooml) [ (ImL)
H. 11 24 56 7.4 110 1.86 22.0 0.40[ 4400000 700000
12 4.9 25 7.4 12.3 1.75 21.2 0.42( 2700000 520000
13 6.0 25 7.4 9.7 1.04 18.4 0.36[ 2000000[ 510000
14 9.3 31 7.6  10.3 1.43 24.9 0. 35 2600000[ 660000
15 11 58 7.6 7.2 1.02 16.7 0.23[ 970000[ 190000
16 9.4 30 7.5 5.3 1.26 17.0 0.23[ 1600000 650000
17 3.5 20 7.5 9.9 1.61 18.7 0. 24 2300000[ 500000
18 2.9 16 7.6 3.7 0. 62 16. 1 0.06[ 380000 200000
19 3.3 24 7.6 4.0 0. 49 16. 2 0.06[ 1200000[ 200000
20 2.8 20 7.6 3.4 0.54 15.5 0.08] 720000 120000
21 5.1 25 7.6 2.9 0.42 14.7 0.03| 4900000 250000
22 2.1 19 7.7 1.9 0. 36 14.3 <0.02| 160000| 41000
23 2.4 16 7.6 3.1 0.74 14.3 0.07[ 8400000 330000
24 1.8 20 7.6 1.7 0.32 14.5 0.02[ 320000[ 160000
25 2.7 33 7.6 3.5 0. 65 17. 1 0.06[ 2600000] 350000
26 4.6 28 7.7 3.7 0. 66 16.9 0.05[ 480000 260000
27 5.0 25 7.6 5.4 0. 66 16.5 0.04[ 680000[ 190000
28 0.6 20 7.7 1.0 0.23 13.5]  <0.02| 22000 29000
29 4.2 24 7.6 2.3 0. 30 14.0 0.03[ 73000 67000
30 1.8 17 7.6 1.8 0. 20 13.3 0.03[ 130000f 110000

1. 1. 10 @Il WAKRBERE

T/EZT KMnO, Sty | RIGERE|  —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | W& s | Al | aooml) [ (ImL)
H. 11 4.2 13 7.4 2.0 0.18 6.3 0.04[ 60000 33000
12 5.3 15 7.4 2.5 0. 20 7.1 0.04[ 58000 45000
13 12 24 7.4 2.3 0.21 8.5 0.04[ 100000] 62000
14 4.5 19 7.6 2.4 0.19 6.5 0.03[ 43000 22000
15 6.9 19 7.6 2.1 0.13 7.6 0.02[ 49000 24000
16 11 26 7.6 2.1 0.18 8.0 <0.02[ 97000 32000
17 4.3 13 7.6 1.6 0.19 5.9  <0.02 15000 6000
18 7.2 16 7.5 1.3 0.08 6.8  <0.02[ 43000 11000
19 7.5 18 7.6 1.5 0. 09 6.6|  <0.02[ 39000 4900
20 4.6 13 7.6 1.0 0. 06 5.9  <0.02[ 26000 4900
21 11 24 7.5 1.3 0. 09 8.0 <0.02[ 42000 21000
22 6.0 15 7.6 1.0 0. 06 5.8  <0.02 12000 4800
23 7.3 15 7.6 1.0 0. 05 5.7 <0.02| 24000 7300
24 5.6 13 7.7 1.2 0. 05 6.2  <0.02 14000 3900
25 5.2 12 7.6 1.1 0. 06 5.5 <0.02] 32000 3800
26 8.8 20 7.6 1.3 0. 06 7.0l  <0.02[ 29000 20000
27 5.4 15 7.5 1.0 0. 06 5.9  <0.02[ 22000 12000
28 7.0 18 7.5 1.4 0. 06 6.8  <0.02[ 69000 70000
29 5.0 14 7.6 1.1 0. 05 6.2|  <0.02 17000 9500
30 5.5 15 7.6 1.2 0. 06 5.8  <0.02] 27000 5900
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1. 1. 11 ®ENl WAKEBEE

T/EZT KMnO, bty [ RIGERE| —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | & s | Al | aooml) [ (ImL)
H. 11 4.0 11 7.4 1.6 0.14 5.9 0.04[ 52000 23000
12 4.1 12 7.4 1.9 0.16 5.9 0.03[ 48000 22000
13 9.9 16 7.4 1.8 0.15 8.2 0.03[  26000] 45000
14 3.5 12 7.6 1.8 0.12 5.7 0. 02 11000 12000
15 6.0 19 7.6 1.9 0.08 6.6| <0.02[ 27000 12000
16 16 32 7.6 1.8 0.12 7.8 <0.02[ 100000 18000
17 3.7 12 7.6 1.3 0. 08 5.5 <0.02 8200 5600
18 9.1 18 7.6 1.3 0.08 8.1 <0.02| 38000 8200
19 4.8 13 7.6 1.2 0. 08 5.6  <0.02[ 33000 4000
20 4.1 13 7.6 1.0 0. 06 5.6  <0.02[ 27000 5100
21 8.3 21 7.5 1.1 0. 08 7.5 <0.02|  62000] 26000
22 4.9 13 7.6 1.0 0. 05 5.5  <0.02 15000 5300
23 5.7 13 7.6 1.0 0. 05 5.0  <0.02] 27000 4100
24 5.5 14 7.6 1.3 0. 06 5.7 <0.02 9100 4700
25 5.7 12 7.5 1.1 0. 06 5.3 <0.02 16000 3800
26 18 29 7.6 1.3 0.07 6.0 <0.02] 29000 16000
27 7.5 18 7.6 0.9 0.07 5.4 <0.02[ 29000 22000
28 6.5 17 7.5 1.5 0.07 6.3 <0.02[ 54000 48000
29 4.7 13 7.6 1.0 0. 05 5.6  <0.02 11000 12000
30 5.7 15 7.6 1.1 0. 06 5.4  <0.02 19000 6900

1. 1. 12 FI RIESRER]

T/EZT KMnO, Sty | RIGERE|  —

WE | A | pHfE| BOD oo MPN iIES]

ez | s | GEMEAL [ aooml) [ (ImL)
H. 11 2.1 13 8.4 1.7 0.18 6.2 0.04] 78000 19000
12 12 21 8.2 2.2 0.16 7.2 0.07[ 97000 46000
13 16 24 8.1 1.8 0.16 8.1 0.05[ 45000 14000
14 5.6 22 7.9 1.2 0.11 7.3 0.04[ 53000 12000
15 4.0 14 8.2 1.0 0.08 6.0 0.03[ 200000 11000
16 3.6 15 8.0 1.3 0.08 6.5 <0.02[ 64000 13000
17 3.1 17 8.1 1.5 0. 06 6.4  <0.02[ 25000 9700
18 27 30 8.2 0.9 0. 04 11.6]  <0.02 71000 6500
19 3.4 14 8.3 1.1 0.03 6.1 <0.02| 43000 4400
20 2.8 10 8.2 0.8 0.02 5.2|  <0.02[ 34000 6300
21 36 64 8.1 0.8 <0. 02 10.9]  <0.02] 20000 13000
22 2.6 11 8.0 0.7 0. 04 4.8 <0.02| 23000 3400
23 2.4 9 8.3 0.8 0. 06 5.9]  <0.02[ 41000 4800
24 2.8 12 8.1 1.0 0.03 5.7 <0.02 15000f 29000
25 2.2 12 8.4 0.9 0. 02 4.6|  <0.02 12000 3400
26 12 25 8.1 1.2|  <0.02 8.1 <0.02] 29000 13000
27 2.9 9 8.1 0.7 0. 03 4.1 <0. 02 14000 8500
28 4.3 11 8.0 0.9 0. 02 4.3 <0.02| 35000 15000
29 4.1 11 8.0 1.2 0. 05 5.7 <0.02[ 30000 11000
30 2.4 7 8.2 0.7  <0.02 3.8  <0.02[ 22000 4600
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1. 1. 13 &l BRXBEREZERKGIUKSR

TYEZT KMnO, bty [ RIGERE| —

WE | A | pHfE| BOD ¥ | MPN iIES]

HezEFE | s | A | aooml) [ (ImL)
H. 11 4.0 11 7.4 1.5 0.13 5.7 0.03[ 33000 17000
12 4.3 13 7.5 1.6 0.15 5.8 0.03 19000 19000
13 6.0 15 7.4 1.4 0.16 6.6 0.03[ 45000 67000
14 4.0 14 7.6 1.7 0.14 5.8 0. 02 12000 15000
15 5.8 17 7.6 2.1 0.11 6.5 0.02[ 46000 15000
16 11 24 7.6 1.9 0.14 7.5  <0.02[ 49000 33000
17 4.1 13 7.7 1.5 0.11 5.6  <0.02 12000 3900
18 7.1 16 7.6 1.3 0. 08 6.6|  <0.02[ 47000 7300
19 6.1 16 7.6 1.1 0. 08 6.0  <0.02 15000 3300
20 4.4 12 7.6 1.0 0. 06 5.7 <0.02 17000 5100
21 8.8 20 7.5 1.2 0.12 7.3 <0.02|  62000] 28000
22 5.3 14 7.6 0.9 0.07 5.7 0. 02 14000 5100
23 7.9 16 7.6 1.1 0. 06 5.7 <0.02] 32000 6500
24 6.0 14 7.6 1.2 0.07 5.7 <0.02 8100 4700
25 5.1 14 7.6 1.1 0.07 5.7 <0.02 7600 5200
26 8.0 18 7.7 1.0 0. 06 5.5 <0.02] 39000 17000
27 4.8 13 7.6 0.9 0. 06 5.4 <0.02 9300 7700
28 6.9 16 7.5 1.5 0. 09 5.9  <0.02[ 62000 43000
29 5.3 15 7.5 1.0 0. 06 5.8  <0.02 9600 23000
30 5.3 15 7.7 1.2 0. 04 5.7 <0.02 3800 2000

1. 1. 14 FIl BfREXEEE

T/EZT KMnO, Sty | RIGERE|  —

WE | A | pHfE| BOD oo MPN iIES]

HezEFE | W& s | Al | aooml) [ (ImL)
H. 11 3.7 11 7.4 1.5 0.12 5.5 0.03 12000 9000
12 4.1 13 7.4 1.5 0.14 5.9 0.03[ 34000 22000
13 7.0 15 7.4 1.7 0.15 6.9 0.03[ 130000] 34000
14 4.2 14 7.6 1.8 0.12 5.8  <0.02 6800 16000
15 6.0 16 7.5 2.0 0. 09 6.3 0. 02 76000 18000
16 16 32 7.6 1.8 0.13 7.6  <0.02 71000| 27000
17 4.0 13 7.7 1.5 0. 09 5.5 <0.02 7200 4000
18 8.4 17 7.5 1.4 0.08 8.0  <0.02[ 42000 14000
19 4.6 13 7.6 1.1 0.07 5.6  <0.02 16000 2600
20 3.9 12 7.6 0.9 0. 06 5.3 <0.02 14000 3500
21 13 27 7.5 1.3 0. 10 8.2 <0.02| 120000] 35000
22 5.1 14 7.6 1.0 0.07 5.7 <0.02 15000 4400
23 6.5 14 7.5 1.0 0. 06 5.2 <0.02] 29000 5600
24 5.7 14 7.6 1.1 0. 06 5.5 <0.02 9500 4100
25 5.2 13 7.6 1.1 0.07 5.4 <0.02 11000 5300
26 16 30 7.6 1.0 0.07 5.5 <0.02] 39000 15000
27 7.0 16 7.6 0.8 0. 06 5.4 <0.02 13000 6800
28 5.9 15 7.5 1.4 0. 10 5.7 <0.02[ 88000 44000
29 4.7 13 7.5 1.0 0.07 5.5 <0.02 11000 19000
30 6. 1 16 7.6 1.2 0. 04 5.3 <0.02 4300 2900




1.2 EEH
(CFRL304E )
B oK %O
SR U IR/ JE W
® OB om H B | B E K By | B A AR &)
B o C 12 33.5 4.0 19.3] 12 36.1 2.7 19.3
VS H| C 12 30.8 7.0 18.0 12 31.9 7.2 18.5
% 7 i3 m 12 3.7 1.3 2.3 12 3.0 1.0 2.1
— ik Bl f# /mL 12 290 5 74| 12 1300 44 390
*K 15 MPN/100mL| 12 <1.8 <1.8 A8 12 44 <1.8 5.8
fif B & % FH# mg/L 12 <0.004 <0.004 <0.004 | 12 0.004 <0.004 <0.004
w ot wm A4 # v mg/L 12 10.4 8.8 9.6 12 10.9 8.7 9.5
wly = 4+ A T v me/L 6 | 0.000002 |<0.000001 | 0.000001
;ﬁz—f%/v4yn%‘wz‘<z“~w mg/L 6 1<0.000001 |<0.000001 |<0.000001
U s e (2 1% % (1000 ) mg/L 12 2.2 1.1 16| 12 2.5 1.1 1.8
pH (A 12 9.0 7.6 8.1 12 9.2 7.6 8.2
B = 12 WAEER | 12 R
= =3 I 12 16 4 9| 12 17 5 10
wWoE (% SOk W) B 12 6.0 1.0 3.1 12 6.0 1.5 3.0
H SR~ /By AT &)|  mg/L 12 5.0 2.9 3.7 12 6.2 2.9 4.6
K i B[ MPN/100mL[ 12 2000 <1.8 400 12 9800 23 1600
HOOX = g | uS/cm 12 126 106 19| 12 128 103 119
# W 7] | mg/L 12 6 <1 31 12 9 2 4
" # %3 #| me/L 12 11.5 8.1 9.8 12 11.5 8.4 9.8
E Wi ¥ 0y B R E KR & meg/L 12 1.4 0.5 0.9] 12 3.2 0.9 1.6
% B iR TE A B R R (DOC)| me/L 12 1.6 1.0 13| 12 2.1 1.0 1.4
% % 4 B W St E (260nm) 12 0.030 0.018 0.022 | 12 0.041 0.019 0.025
I§7 v ® = 7 B ® F| meg/L 12 0.04 <0.02 <0.02 | 12 0.02 <0.02 <0.02
fil§ i3 TE % #| mg/L 12 <0.2 <0.2 0.2 12 <0.2 <0.2 <0.2
4 £ #| mg/L 12 0.4 <0.1 02| 12 0.7 <0.1 0.3
Uy v B A A& » (PO4-P)| mg/L 12 <0.01 <0.01 <0.01 | 12 <0.01 <0.01 <0.01
% U v (T-P)| mg/L 12 0.02 <0.01 0.01] 12 0.03 <0.01 0.02
s/ w w7 4 A al mg/L 12 0.015 0.002 0.007 | 12 0.024 0.002 0.012

) B REEHAEREHA

1) BB, @A - SNEENNRE ik L2 FEHRHA THh D,




1.2 EEB#M(DOIF)
CFRE304F )
EEEH EEEM W)
IR L1 WE 1 KAS
M R =335 Sy | B A A% W B RE FAK T
12 35.5 4.8 19.2] 12 33.5 4.6 192 12 35.8 4.2 19.5
12 31.7 7.0 18.6| 12 30.8 7.3 18.1] 12 31.4 7.9 18.6
12 3.4 1.5 23] 12 2.7 0.8 1.8 12 2.5 1.2 1.8
12 3200 5 350 | 12 1100 9 280 [ 12 980 70 230
12 4.5 <1.8 a.8| 12 70 1.8 75 12 140 <1.8 24
12 <0.004 <0.004 <0.004 | 12 0.005 <0.004 <0.004 | 12 0.009 <0.004 <0.004
12 10.8 8.7 9.6 12 11.5 9.1 10.0 | 12 17.5 8.8 12.6
6 0.000002  <0.000001 |<0.000001 6 0.000005 <0.000001 | 0.000002 6 0.000002  <0.000001 | 0.000001
6 0.000001 <0.000001 <0.000001 6 0.000004 <0.000001 |<0.000001 6 <0.000001 <0.000001 <0.000001
12 2.1 1.1 1.6 12 2.2 1.1 17| 12 2.2 1.3 1.7
12 9.0 7.6 81| 12 9.3 7.6 82| 12 8.9 7.4 7.9
12 MERR | 12 MERR | 12 S IR R
12 16 3 9| 12 36 5 14 12 15 6 10
12 6.0 1.5 3.2 12 11 2.0 46| 12 6.0 2.0 3.8
12 5.5 2.9 3.9 12 7.4 2.6 44| 12 6.5 3.4 4.5
12 6900 <1.8 860 | 12 5400 13 1000 [ 12 2400 230 760
12 143 112 124 12 135 109 121 12 174 116 137
12 5 1 3 12 12 1 5| 12 8 1 4
12 11.3 8.2 9.8 12 11.5 8.6 9.9 12 11.2 8.2 9.7
12 2.1 0.6 1.2 12 2.6 0.4 14| 12 1.9 0.6 1.1
12 1.6 1.0 1.3 12 1.7 1.0 14| 12 1.9 1.2 1.5
12 0.029 0.019 0.023 | 12 0.048 0.018 0.029 | 12 0.031 0.023 0.026
12 0.03 <0.02 €0.02 | 12 0.04 <0.02 <0.02 | 12 0.06 <0.02 <0.02
12 0.2 0.2 0.2 12 0.2 0.2 0.2 12 0.6 0.2 0.2
12 0.5 <0.1 0.2] 12 0.7 0.2 03] 12 0.9 0.1 0.5
12 <0.01 <0.01 <0.01| 12 <0.01 <0.01 <0.01 | 12 0.01 <0.01 <0.01
12 0.02 <0.01 0.02| 12 0.04 0.02 0.03| 12 0.03 0.01 0.02
12 0.013 0.001 0.008 [ 12 0.036 0.001 0.012| 12 0.022 0.002 0.009




1. 3 IR

CERR304E )
B ok B \ womoJi l??ﬁﬂl l*ﬁm
WO IR s [ wWoE s
B AL | ¥ eom I A RG] i I Ry B R I A S ¥y
B wC 12 34.1 7.7 19.1] 12 37.4 7.1 20.5| 12 37.4 7.4 20.4
7k i C 12 30.6 7.0 18.1] 12 30.7 7.2 18.4] 12 31.1 6.8 17.1
— e H B fE/mL 12 480 36 210 12 12000 530 2400 | 12 13000 570 3300
PN 15 | MPN/100mL| 12 56 <1.8 16| 12 650 16 100 [ 12 280 5.1 77
BRI ALK OE O AW me/L 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003| <0.0003 6| <0.0003 | <0.0003| <0.0003
K K O o b A B me/L 6 | €0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 [ <0.00005 6 | <0.00005 | <0.00005 | <0.00005
Ly Kk W®EOAE W me/L 6 €0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 €0.001 <€0.001 €0.001
Mok ™ E o b A& W me/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 <0.001 6 €0.001 <0.001 €0.001
E# kO o0k dE& W me/L 6 0.001 <0.001 <0.001 6 0.002 <0.001 <0.001 6 <0.001 <0.001 <0.001
N 7 v & b A& | mg/L 6 €0.005 <€0.005 €0.005 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 €0.005
Hlm @ B R % #| me/L 12 €0.004 <0.004 €0.004 | 12 0.015 <0.004 0.006 | 12 0.017 <€0.004 0.007
T A AF R OHALY T mg/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 €0.001 6 <0.001 €0.001 €0.001
7 v H#FEG®E O E W me/L 6 0.10 0.09 0.09 6 0.10 0.09 0.10 6 0.09 <€0.08 €0.08
mYH#E KR O®E OIS W me/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
] # it 24 #| mg/L 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 [ <0.0002 | <0.0002
4 ¥ A % ¥ | mg/L 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 <0.005 6 €0.005 <0.005 €0.005
" @}155157)]553;;%9 mg/L 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004
Y sy v v 4 % v mg/L 6 €0.002 <€0.002 €0.002 6 <€0.002 €0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
FhF 7 mur = F L v mgl 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 €0.001
Y 2z v ar = F L o mg/lL 6 €0.001 <€0.001 €0.001 6 <€0.001 €0.001 <€0.001 6 €0.001 <€0.001 €0.001
~ v + | mg/L 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001
H|M ¢ k& 08 2 © b & | mg/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
% K O % o b A& P mg/L 6 0.45 0.06 0.16 6 0.53 0.21 0.32 6 0.61 0.12 0.33
& O o b & | mg/L 6 <0.1 €0.1 <0.1 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1
~ Ak OEORE W mg/L 6 0.037 0.010 0.019 6 0.062 0.028 0.040 6 0.041 0.015 0.025
Wtk ¥ A4 A4 | mg/L 12 16.7 9.0 122 12 23.4 9.3 13.1] 12 14.0 5.8 9.6
fz2 A4 A4 v R om 3§ % Fl| mg/L 6 <0.02 €0.02 €0.02 6 €0.02 €0.02 €0.02 6 €0.02 €0.02 €0.02
Hl = # =% 3 | mg/L 6 | 0.000004 [<0.000001 | 0.000001
2-AF N A YR N FA — V| mg/L 6 | 0.000006 [<0.000001 | 0.000001
oA A v Fom I M A me/L 6 <€0.005 €0.005 €0.005 6 €0.005 €0.005 €0.005 6 <0.005 €0.005 <€0.005
7 = J  — A #HEl meg/L 6| <0.0005 [ <0.0005 | <0.0005 6| <0.0005 | <0.0005 | <0.0005 6| <0.0005 | <0.0005| <0.0005
W (A B IR #(TOC) O &) mg/L 12 4.1 1.2 1.8 12 2.8 1.3 .71 12 2.2 1.3 1.7
pH fil 12 9.4 7.4 8.0 12 8.3 7.3 7.7 12 7.9 7.4 7.7
L B 12 WAEFER [ 12 BIARSR | 12 IR B
e} B pE 12 24 4 12| 12 38 6 15 12 34 6 16
b} o 12 8.0 2.0 43| 12 17 3.0 55| 12 8.5 1.0 4.6
TrFEYROEORE Y mg/L 6 €0.002 <0.002 <€0.002 6 <0.002 <€0.002 <0.002 6 €0.002 <€0.002 €0.002
77k W®E O A W mg/L 6| <€0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 | <0.0002 | <0.0002
g =v 7k RE O A Y me/L 6 €0.002 <0.002 <€0.002 6 <0.002 <0.002 <0.002 6 <0.002 <0.002 <€0.002
wlle- ¥ 7 v v = & v mg/L 6| <€0.0004 [ <0.0004 | <0.0004 6| <0.0004 | <0.0004 [ <0.0004 6| <0.0004 | <0.0004 | <0.0004
21N V2 Ea | mg/L 6 €0.04 <0.04 €0.04 6 <0.04 €0.04 <0.04 6 €0.04 <0.04 <0.04
,?% TENEEY (2-=F L ~F ) mg/L 6 <0.008 €0.008 <0.008 6 <€0.008 €0.008 <0.008 6 €0.008 <0.008 €0.008
R G B & BB O oo Fin) 6 0.06 €0.01 0.02 6 0.04 €0.01 0.02 6 0.41 €0.01 0.07
?gu,k FY s m x| mg/L 6 <0.03 €0.03 <0.03 6 €0.03 <0.03 €0.03 6 <0.03 €0.03 <0.03
B AFN=t=-T F )z —F )LMTBE)| mg/L 6 <0.002 <0.002 <€0.002 6 <0.002 <0.002 <0.002 6 <0.002 <0.002 <0.002
AR EGR~ N VBN A /)| me/L 12 12.3 3.0 52| 12 9.5 4.0 53 12 9.0 4.1 6.1
LI-Y 78w = F L v mg/l 6 <0.01 €0.01 <0.01 6 €0.01 <0.01 €0.01 6 <0.01 €0.01 <0.01
PN 1% [t HE|MPN/100mL| 12 2200 58 830 | 12 35000 910 9300 [ 12 7300 220 2800
W g = o | us/em 12 166 110 134 12 250 115 146 | 12 171 98 132
|z it L] | mg/L 12 14 2 6| 12 22 4 9| 12 19 2 8
s 1 [iZ3 F#| mg/L 12 11.8 8.4 9.8 12 12.3 7.6 9.7 12 13.4 7.8 9.9
»|B ) D| mg/L 12 2.8 0.7 14| 12 2.9 0.8 1.3 12 1.3 0.5 0.8
w o A B B # (DOC)| mg/L 12 2.0 1.2 1.4 12 2.0 1.2 1.5 12 2.0 1.2 1.5
ﬁﬁﬁg S WE ot (260nm) 12 0.038 0.013 0.026 | 12 0.045 0.019 0.029 | 12 0.072 0.028 0.048
H b E B * 12 0.38 0.12 0.21| 12 0.64 0.14 0.26 | 12 0.62 0.30 0.43
2 t ¥ 4 # | mg/L 12 0.07 0.02 0.04 | 12 0.08 0.02 0.04 | 12 0.08 0.02 0.04
Hy o % = 7 g = = mg/L 12 0.06 <0.02 €0.02 | 12 0.10 <€0.02 0.04 | 12 0.06 <0.02 <€0.02
il [ fi& e #| mg/L 12 0.6 €0.2 0.2 12 1.5 €0.2 04| 12 1.6 0.6 1.0
B2 %= F#| mg/L 12 0.9 0.3 0.5 12 2.3 0.3 0.8 12 2.0 0.9 1.3
o h Kk OE O A W mg/L 6 €0.005 <0.005 €0.005 6 <0.005 €0.005 <€0.005 6 €0.005 <€0.005 €0.005
MR U N |m X2 v A R R me/L 6 0.047 0.027 0.033 6 0.040 0.031 0.035 6 0.069 0.037 0.055

3% 0.05mg/ LIS =—3/0.05MRRER VAR DFREE 2 1L L7 i




1. 3 EIEN-ZN(DDF)

CERR304E )
B ok B I% AJH ‘ %@JH . ‘ E%BiJII .
O (T ] WE A VR OE A WA W E Al
B AL | ¥ eom I A RG] i I Ry B R I A S ¥y
B wC 12 36.5 7.9 20.5 6 35.6 9.0 20.8 6 32.1 9.2 21.4
7k i C 12 29.0 9.4 18.0 6 30.6 8.3 18.9 6 29.8 7.8 18.6
— e H B fE/mL 12 48000 600 8600 6 24000 5000 11000 6 26000 1500 11000
PN i | MPN/100mL| 12 2400 49 640 6 5200 49 1400 6 4400 49 1500
ARIV AR OZ 0 AE W mg/L 6| <0.0003 | <0.0003 [ <0.0003 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003| <0.0003
K kO ZE o b A B me/L 6 | €0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 [ <0.00005 6 | <0.00005 | <0.00005 | <0.00005
Ly Kk W®™EOAAAE W me/L 6 €0.001 <0.001 €0.001 6 <€0.001 <0.001 <€0.001 6 €0.001 <€0.001 <€0.001
ok ™ E o kb A W me/L 6 0.002 €0.001 €0.001 6 €0.001 €0.001 <0.001 6 €0.001 <0.001 €0.001
e #E K G ZE oA W me/l 6 0.002 <0.001 0.001 6 0.001 <0.001 <0.001 6 0.001 <0.001 <0.001
N 7 v & b A& | mg/L 6 €0.005 <€0.005 €0.005 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 €0.005
Hlwi @y w8 % E|[ me/L 12 0.021 0.004 0.012 6 0.063 0.007 0.029 6 0.070 0.021 0.042
T A AF R O ALY T mg/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 €0.001 6 €0.001 €0.001 €0.001
7 v #FEG®ET O A W me/L 6 0.09 €0.08 €0.08 6 0.20 0.10 0.16 6 0.23 0.14 0.19
mYH#EKO®E OIS W me/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
] # it 24 #| mg/L 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 [ <0.0002 | <0.0002
4 ¥ A % ¥ | mg/L 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 <0.005 6 €0.005 <0.005 €0.005
" f??fiff;’if;;%lj mg/L 6 <0.004 <0.004 €0.004 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004
Y sy v v 4 % v mg/L 6 €0.002 <0.002 €0.002 6 <€0.002 €0.002 <€0.002 6 €0.002 <€0.002 €0.002
F hF 7 mur == F L v mgl 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 €0.001
Y 2z v ar = F L o mg/lL 6 €0.001 <€0.001 €0.001 6 <€0.001 €0.001 <€0.001 6 €0.001 <€0.001 €0.001
~ v + | mg/L 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001
H|M h &k 8 = o b & #| mg/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
% K O % o b A& P mg/L 6 1.08 0.08 0.38 6 0.41 0.13 0.26 6 0.76 0.25 0.47
& O o b & | mg/L 6 <0.1 €0.1 <0.1 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1
v~ A kOEORE W mg/L 6 0.054 0.027 0.037 6 0.035 0.009 0.019 6 0.063 0.011 0.034
Wik ¥ A4 A4 | mg/L 12 21.1 7.8 13.7 6 20.1 11.9 15.0 6 38.1 16.9 24.4
e 4 A4 v R om 3§ % Fl| mg/L 6 <0.02 €0.02 <0.02 6 0.03 €0.02 €0.02 6 <0.02 €0.02 €0.02
B> ES 7 A N > mg/L
2-AF NV A YRV FA — | mg/L
kA A o Fom i M Al me/L 6 €0.005 €0.005 €0.005 6 0.024 €0.005 0.010 6 0.019 €0.005 0.008
7 = J  — A #Hl meg/L 6| <0.0005 [ <0.0005 | <0.0005
AW (A KR 2 (TOC) D7) mg/L 12 2.3 1.1 1.6 6 3.8 2.7 3.1 6 3.6 3.2 3.4
pH il 12 7.7 7.2 7.4 6 9.1 8.4 8.7 6 9.6 8.8 9.2
5 = 12 JEF IR R 6 |G 6 JEF IR R
£ B e 12 64 4 17 6 24 10 16 6 32 10 22
b} gl B 12 28 2.0 6.3 6 8.0 2.0 3.5 6 8.0 1.5 3.4
TryFEVROEZEOEAE Y mg/L 6 €0.002 <€0.002 €0.002
v Ik W®E O A W me/L 6| <€0.0002 [ <0.0002 | <0.0002 6] 0.0004 | <0.0002 0.0003 6 0.0003 0.0002 0.0002
g =y 7k REOAAE Y me/L 6 0.002 <0.002 €0.002 6 <€0.002 €0.002 <€0.002 6 €0.002 <€0.002 €0.002
wlie- ¥ 7 v v = &% v mg/lL 6| <€0.0004 [ <0.0004 | <0.0004
BN n - | mg/L 6 <0.04 €0.04 <0.04
i TENEEY (2-=F L ~F ) mg/L 6 <€0.008 <0.008 <€0.008
;; J O (f A S H R A oD e o> i) 6 0.14 €0.01 0.03 4 0.10 <0.01 0.05 4 0.06 €0.01 0.03
?E LLI- kY 27 m2nrx % 2 mg/L 6 €0.03 <€0.03 €0.03
= AFN—t-T F )z —F )LMTBE)| mg/L 6 <0.002 <0.002 <€0.002 6 <0.002 <0.002 <0.002 6 <0.002 <0.002 <0.002
FHE SR~ VBN AT )| me/L 12 7.7 3.7 5.5 6 13.1 7.4 9.0 6 13.4 8.6 10.5
LI-Y 7mvnax F L v mg/l 6 <0.01 €0.01 <0.01
x 1 [t HE|MPN/100mL| 12 92000 790 15000 6 49000 7900 23000 6 49000 1000 26000
W £ = o | us/em 12 214 110 156 6 284 243 265 6 368 252 294
|z it L] | mg/L 12 24 3 8 6 6 1 4 6 22 2 7
s 1F [iZ3 F#| mg/L 12 11.3 8.0 9.6 6 16.6 8.7 12.3 6 16.0 11.3 13.6
»|B ) D| mg/L 12 4.6 0.6 1.3 6 2.8 0.9 1.8 6 3.3 1.9 2.3
W OfiE M A B R # (DOC) mg/L 12 1.9 1.0 1.4 6 3.5 2.5 2.9 6 3.3 2.9 3.0
mtﬁg S WE ot (260nm) 12 0.076 0.027 0.038 6 0.104 0.056 0.072 6 0.111 0.050 0.080
Eiy ot i B ¥ 12 0.73 0.29 0.49 6 1.39 0.72 0.88 6 1.34 0.87 1.06
2 ¥ 4 F v mg/L 12 0.09 0.02 0.04 6 0.06 0.04 0.05 6 0.07 0.05 0.06
[y © o2 = 7 g = % mg/L 12 0.50 0.02 0.10 6 0.11 <€0.02 0.05 6 0.09 0.02 0.05
il i3 i ES F#| me/L 12 3.1 1.0 1.8 6 1.7 <€0.2 1.1 6 3.6 0.4 1.6
H 4 %= F#| mg/L 12 3.5 1.2 2.2 6 2.4 0.5 1.5 6 4.6 0.7 2.1
7 a Ak O Z O A W me/L 6 <0.005 €0.005 <0.005 6 €0.005 <0.005 €0.005 6 <€0.005 €0.005 <0.005
WRU N A H v AR R me/L 6 0.045 0.027 0.036




1. 3 EIEN-ZN(DDF)

CERR304E )
P ‘ BN Ef JI . ‘ @ E‘ I . wE I _
WA W E Al WE A W OE A B R EE
B AL | ¥ eom I A RG] i I Ry B R I A S ¥y
g "l C 6 32.7 7.8 20.3 6 34.1 8.3 204 12 35.8 9.1 20.2
7k i C 6 28.4 8.0 18.0 6 28.3 16.7 22,3 12 30.2 7.9 18.0
— e H B fE/mL 6 56000 7100 28000 6| 460000 2400 | 110000 | 12 39000 460 5900
PN i H|MPN/T00mL| 6 2200 66 600 6 20000 190 4300 [ 12 1000 5.0 180
ARIYV AR OE DA P mg/L 6| <0.0003 | <0.0003 [ <0.0003 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003| <0.0003
K Kk O ZE o b A B me/L 6 | €0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 | <0.00005
Ly Kk W®™EOAAAE W me/L 6 €0.001 <0.001 €0.001 6 <€0.001 €0.001 <€0.001 6 €0.001 <€0.001 €0.001
Mok ™ E o b A& W me/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 <0.001 6 €0.001 <0.001 €0.001
E#E KOG ZE oA W mg/L 6 €0.001 <0.001 €0.001 6 0.001 €0.001 €0.001 6 0.001 <€0.001 €0.001
N 7 v & b A& | mg/L 6 €0.005 <€0.005 €0.005 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 €0.005
Hlwi my wE B % E|[ me/L 6 0.075 0.024 0.039 6 0.309 0.027 0.130 [ 12 0.016 <0.004 0.008
T A AF R OHALY T mg/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 €0.001 6 <0.001 €0.001 <0.001
7 v F Kk W®E O E W mg/L 6 0.17 0.11 0.15 6 0.15 0.09 0.12 6 0.10 <€0.08 €0.08
mYH#EKRO®E OIS W me/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
] # 1t I74 #| mg/L 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 | <0.0002 [ <0.0002
4 ¥ A % H | mg/L 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 <€0.005 6 €0.005 <0.005 €0.005
" @}155157)]553;;%9 mg/L 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004 6 <0.004 <0.004 <0.004
Y sy v v 4 % v mg/L 6 €0.002 <€0.002 €0.002 6 <€0.002 €0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
FhF 7 mur = F L v mgl 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 €0.001
Y 2z v ar = F L o mg/lL 6 €0.001 <€0.001 €0.001 6 <€0.001 €0.001 <€0.001 6 €0.001 <€0.001 €0.001
~ v + | mg/L 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001
H|M h & 8 = o b & #| mg/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
% K O % o b A& P mg/L 6 0.33 0.16 0.24 6 0.12 0.07 0.09 6 0.71 0.20 0.38
& O o b & | mg/L 6 <0.1 €0.1 <0.1 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1
~ Ak OEORE W mg/L 6 0.029 0.007 0.017 6 0.108 0.022 0.044 6 0.050 0.033 0.039
Wtk ¥ A4 A4 | mg/L 6 33.6 13.1 21.6 6 53.6 17.7 39.8 | 12 17.1 8.4 12.8
e A4 A4 v ® om 3§ % Fl| mg/L 6 €0.02 €0.02 <0.02 6 0.11 <0.02 0.03 6 €0.02 €0.02 €0.02
B> ES 7 A N > mg/L
2-AF NV A YRV FA — | mg/L
kA A Fom & M Al me/L 6 0.047 0.005 0.017 6 0.030 €0.005 0.012 6 <€0.005 €0.005 €0.005
7 = J  — A #Hl meg/L 6| <0.0005| <0.0005| <0.0005
AW (A KR 2 (TOC) D7) me/L 6 3.4 2.8 3.1 6 6.8 2.3 45| 12 2.3 1.4 1.7
pH fi 6 9.4 8.2 8.7 6 7.7 7.1 76| 12 8.0 7.5 7.6
5 kS 6 JEF IR R 6 TFARE | 12 Tk &
& BE FE 6 20 10 13 6 24 17| 12 36 5 15
b gl B 6 4.0 1.5 2.4 6 3.0 1.0 18| 12 15 2.0 5.5
TryFEUYROZEOLEAE Y mg/L 6 €0.002 <€0.002 €0.002
v 7 vk W®”E O E mg/L 6| 0.0004 | 0.0003| 0.0003 6] 0.0003 | <0.0002 [ <0.0002 6| <0.0002 | <0.0002 | <0.0002
g =7k RE O A Y mg/L 6 0.003 <0.002 €0.002 6 <€0.002 €0.002 <€0.002 6 <0.002 <€0.002 <0.002
wlie- ¥ 7 v v = &% ¥ mg/lL 6| <0.0004 | <0.0004 | <0.0004
BN v - | mg/L 6 €0.04 <0.04 €0.04
Sﬁe THENEEY (2-=F L ~F ) mg/L 6 <€0.008 <0.008 <€0.008
200 [ sk O I & R A oD B o> i) 4 0.03 0.02 0.02 4 0.39 0.01 0.12 6 0.15 €0.01 0.03
?él,u— FYU 2z e ouwr = % mg/lL 6 €0.03 <0.03 €0.03
A AFN=t-T F )z —F )LMTBE)| mg/L 6 <0.002 <0.002 <€0.002 6 <0.002 <0.002 <0.002 6 <0.002 <0.002 <0.002
AR EGR~ N VBN AT )| me/L 6 10.1 7.1 8.6 6 19.6 6.5 13.3] 12 8.8 4.6 5.8
LI-Y 78w = F L v mg/l 6 <0.01 €0.01 <0.01
PN 1% [t BE|MPN/100mL| 6 [ 220000 5200 66000 6| 490000 4400 [ 130000 | 12| 240000 1300 27000
L5 £ = s | us/em 6 357 230 281 6 427 285 370 | 12 182 117 147
|z it L] | mg/L 6 11 1 4 6 2 <1 1| 12 22 4 11
s 1F [iZ3 F#| mg/L 6 17.4 9.9 13.2 6 8.9 6.5 7.7 12 11.8 7.6 9.5
»|B ) D| mg/L 6 2.1 0.9 1.4 6 3.3 1.1 1.8 12 2.0 0.7 1.2
W Ofik ME A B R # (DOC) mg/L 6 2.9 2.4 2.6 6 6.0 2.2 41| 12 1.9 1.3 1.5
ﬂﬁtff% S # Wk sk B (260nm) 6 0.077 0.046 0.064 6 0.107 0.051 0.083 | 12 0.042 0.025 0.034
Eiy b B B X 6 1.17 0.68 0.87 6 3.12 1.25 2.16 | 12 0.52 0.20 0.35
2 ¥ 4 F v mg/L 6 0.06 0.03 0.04 6 0.11 0.02 0.07 | 12 0.09 0.02 0.05
"y v s = 7 g = # mg/L 6 0.12 €0.02 0.03 6 0.36 0.12 0.20 [ 12 0.23 <€0.02 0.06
il i3 i ES #| mg/L 6 1.8 0.6 1.4 6 8.8 1.9 57 12 1.2 €0.2 0.7
H 4 % F#| mg/L 6 5.1 0.9 2.3 6 9.2 2.4 6.3 12 1.6 0.4 1.1
7 a Ak O Z O A W me/L 6 <0.005 €0.005 <0.005 6 €0.005 <0.005 €0.005 6 <€0.005 €0.005 <€0.005
WRU N A H v AR R me/L 6 0.047 0.033 0.041
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g " C 12 36.5 9.8 20.6 6 35.4 10.4 21.0 | 12 37.0 9.8 20.7
7k i C 12 30.1 8.4 18.1 6 28.0 7.3 16.3] 12 30.1 7.8 18.4
— e H B fE/mL 12 38000 500 6900 6 9600 780 4600 | 12 7000 440 2000
PN i | MPN/100mL| 12 1000 8.0 220 6 330 7.0 150 [ 12 770 2.0 130
BRIV ALK ORZE DA W me/L 6| <0.0003 | <0.0003 | <0.0003 6| <0.0003 | <0.0003| <0.0003 6| <0.0003| <0.0003| <0.0003
K Kk O o b A B me/L 6 | €0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 | <0.00005 6 | <0.00005 | <0.00005 | <0.00005
Ly Kk W®EOAAE W me/L 6 €0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001 6 <0.001 <0.001 <0.001
Mmook ™ E o b A& W me/L 6 €0.001 <€0.001 €0.001 6 <€0.001 €0.001 <0.001 6 €0.001 <0.001 €0.001
b #E K O ZE 0t E& % mg/L 6 0.002 <0.001 <0.001 6 0.002 0.001 0.001 6 0.001 <0.001 <0.001
N 7 v & b A& | mg/L 6 €0.005 <€0.005 €0.005 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 €0.005
Hlm @ m R % #| me/L 12 0.020 <0.004 0.008 6 0.007 <0.004 <0.004 | 12 0.016 <0.004 0.007
T A AF R OHALY T mg/L 6 €0.001 €0.001 <0.001 6 €0.001 €0.001 €0.001 6 <0.001 €0.001 <0.001
7 v #FEO®ET O E W me/L 6 0.10 €0.08 €0.08 6 0.14 0.09 0.12 6 0.11 <€0.08 €0.08
mYH#EKRO®E OIS W me/L 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
] # it 24 #| mg/L 6| <0.0002 [ <0.0002 | <0.0002 6| <0.0002 | <0.0002 [ <0.0002 6| <0.0002 [ <0.0002 | <0.0002
4 ¥ A % H | mg/L 6 <€0.005 €0.005 <€0.005 6 €0.005 <€0.005 <€0.005 6 €0.005 <0.005 €0.005

Ml 2-12—vrmazFLr RO

oy aolo-vsmurFLo mg/L 6 €0.004 €0.004 €0.004 6 €0.004 €0.004 <0.004 6 <0.004 €0.004 <0.004
Y sy v v 4 % v mg/L 6 €0.002 <€0.002 €0.002 6 <€0.002 €0.002 <€0.002 6 <€0.002 <€0.002 <€0.002
Fh% 7w F L o mg/l 6 €0.001 <€0.001 €0.001 6 <€0.001 €0.001 <€0.001 6 <0.001 <0.001 €0.001
Y 2z v ar = F L o mg/lL 6 €0.001 <0.001 <0.001 6 <€0.001 <0.001 <€0.001 6 €0.001 <€0.001 €0.001
~ v ¥ > me/L 6 €0.001 <€0.001 €0.001 6 <€0.001 €0.001 <€0.001 6 <0.001 <0.001 <0.001
H|M ¢ & 08 2 © b & | mg/L 6 <€0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1 6 <0.1 €0.1 <0.1
% K O % o b A& P mg/L 6 0.67 0.15 0.33 6 0.12 0.05 0.09 6 0.48 0.15 0.30
& O o b & | mg/L 6 <0.1 €0.1 <0.1 6 <0.1 €0.1 <0.1 6 €0.1 <0.1 €0.1
~ Ak OEORE W mg/L 6 0.047 0.028 0.036 6 0.027 0.014 0.020 6 0.043 0.022 0.034
Wtk ®m A4 A v mg/L 12 18.1 9.2 13.2 6 12.1 4.8 8.3 12 16.4 8.8 12.5
6 €0.02 <€0.02 €0.02 6 <€0.02 €0.02 <€0.02

B2 A A v Bom & % A me/L 6 <€0.02 €0.02 <€0.02
Hl|v ES 7+ A 3 | mg/L

2-AF NV A YRV FA — | mg/L

A4 A v R om E M K| mg/L 6| <0.005| <0.005| <0.005 6 0.014 |  <0.005 | <0.005 6 <€0.005 €0.005 <€0.005
7 = J  — A H mg/lL 6| <0.0005 [ <0.0005 | <0.0005 6| <0.0005| <0.0005| <0.0005
AW (A KR 2 (TOC) D7) me/L 12 2.4 1.4 1.7 6 1.4 1.0 1.2 12 2.7 1.4 1.7
pH fil 12 7.9 7.4 7.6 6 8.5 7.9 8.2 12 8.5 7.5 7.7
5 kS 12 TR 6 AR [ 12 TR
[ R 12 48 5 15 6 10 5 7 12 32 5 15
b} El 12 19 2.0 5.7 6 3.0 1.5 2.4 12 14 2.0 5.3
TUFEYROEZEOA Y mg/L 6| <0.002 €0.002 | <0.002 6 <€0.002 <0.002 <0.002
v T vk OE OIS mg/L 6| <€0.0002 [ <0.0002 | <0.0002 6] 0.0002 | <0.0002 [ <0.0002 6| <0.0002 | <0.0002 | <0.0002
g =y AR OZE LA Y meg/L 6| <0.002 <0.002 | <0.002 6 <0.002 | <0.002 <0.002 6 <0.002 <0.002 <€0.002
wlhe- v 7 v v = % o mgL 6| <0.0004 [ <0.0004 | <0.0004 6| <0.0004 | <0.0004 | <0.0004
EHIN N ES | mg/L 6 <0.04 <0.04 <0.04 6 <0.04 <0.04 €0.04
E% THELVEEY (- F L ~F )| mg/L 6| <0.008| <0.008| <0.008 6 <€0.008 €0.008 <€0.008
R O T i S B AR AE o e o> Fi) 6 0.09 <€0.01 0.02 4 0.01 €0.01 <0.01 6 0.14 <0.01 0.04
?t;m,k Yz m e x & | mg/L 6 <0.03 €0.03 <€0.03 6 <0.03 €0.03 <0.03
o | AF N -t-F F = —F L(MTBE)| mg/L 6| <0.002 €0.002 | <0.002 6| <0.002| <0.002 <0.002 6 <0.002 <0.002 <0.002
AR EGR~ N VBN A /)| me/L 12 9.0 4.5 5.4 6 5.0 3.0 3.8 12 10.2 4.1 5.7
LI-Y 78w = F L v mg/l 6 <0.01 €0.01 <0.01 6 <0.01 €0.01 <0.01
PN 55 H fE[meN/100mL| 12 [ 130000 910 19000 6 79000 370 22000 | 12 12000 820 3800
(51 e = o | us/em 12 185 119 148 6 285 144 213 | 12 178 116 144
|z it L7} B me/L 12 24 2 9 6 6 1 3| 12 20 3 8
s 1F 23 F#| mg/L 12 12.0 7.4 9.5 6 12.8 9.3 107 12 12.0 8.0 9.6
»|B ) D| mg/L 12 1.9 0.7 1.1 6 0.9 0.5 0.7 12 3.1 0.5 1.2
WO M A B kR E (DOC)| mg/L 12 1.9 1.3 1.5 6 1.2 0.9 1.0 12 2.0 1.3 1.5
méﬁ% S W Ot (260nm) 12 0.041 0.025 0.032 6 0.033 0.016 0.027 | 12 0.049 0.023 0.035
Eiy B i B P 12 0.54 0.19 0.34 6 0.29 0.20 0.25 | 12 0.50 0.19 0.33
2 f ¥ 4 # | mg/L 12 0.09 0.02 0.05 6 0.02 0.01 0.02 | 12 0.10 0.02 0.04
ey 2 = 7 8 = % mg/L 12 0.23 <€0.02 0.06 6 0.04 <€0.02 €0.02 | 12 0.07 <0.02 0.04
il [iZ4 fi& %= F#| me/L 12 1.3 0.2 0.8 6 0.8 0.3 05| 12 1.2 <€0.2 0.7
Hla %= F#| mg/L 12 1.7 0.5 1.1 6 2.9 0.4 1.0 12 1.4 0.4 1.0
zsa LK E O A B meg/L 6| <0.005[ <0.005 <€0.005 6| <0.005 €0.005 | <0.005 6 <€0.005 €0.005 <€0.005
WRYU N A H v Ak R me/L 6 0.044 0.033 0.037 6 0.048 0.034 0.042
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g " C 12 36.8 9.9 21.2
7K W C 12 30.9 7.9 18.4
— I Fill 18/mL 12 10000 540 2900
K i & [mMPN/100mL] 12 690 12 130
ARIYV AR RZE DA P mg/L 6| <0.0003 | <0.0003 [ <0.0003
Ko & W o b A& W meg/L 6 | €0.00005 | <0.00005 | <0.00005
L vk OXZE O E W me/L 6 €0.001 €0.001 €0.001
ok W o b A& Y| meg/L 6 0.001 <0.001 €0.001
b #E K X EZE oA W mg/L 6 0.001 <€0.001 €0.001
A i 7 v A b A& | me/L 6| <0.005 €0.005 | <0.005
Hlmo @ m R % #| me/L 12 0.017 |  <0.004 0.008
ST A AF Y Ot T mg/L 6| <0.001 €0.001 €0.001
7 v #F R O®ZE O A W mg/L 6 0.10 €0.08 <0.08
wyH#ERO®E OIS W me/L 6 <0.1 €0.1 €0.1
] H 1t 2 F#| mg/L 6| <0.0002 | <0.0002 [ <0.0002
L4 v & % ¥ v mg/L 6| <0.005 €0.005 | <0.005
" @}155157/“553;;%9 mg/L 6| <0.004| <0.004 | <0.004
Y / w o om x % | mg/L 6| <0.002 €0.002 | <0.002
F NF 7 mur=xF L v mg/l 6| <0.001 <0.001 <0.001
Y 72 2 8v = F L v mg/l 6| <0.001 <0.001 €0.001
~ v + | mg/L 6| <0.001 <0.001 <0.001
H|H 4 &k O O b A& | mg/L 6 €0.1 <0.1 €0.1
g% Kk O = o b A& ¥ mg/L 6 0.87 0.14 0.35
il K O o b A& | me/L 6 €0.1 0.1 €0.1
v~ H kWY EOAAE B mg/L 6 0.057 0.025 0.037
Wtk ¥ 4 A4 | mg/L 12 16.3 9.1 12.7
fz2 A4 A4 v R/ om 3% % Al mg/L 6 <0.02 €0.02 <€0.02
=l ES 7+ A N > mg/L
22AF NV AV KRNV R — V| mg/L
oA A v Fom I M Al me/L 6| <0.005| <0.005| <0.005
7 = J = A HEl mg/L 6| <0.0005 [ <0.0005 | <0.0005
FHEW (&4 R FE(TOC) D &) me/L 12 2.3 1.4 1.6
pH fift 12 8.1 7.5 7.6
B £ 12 KR
@ )3 FE 12 44 5 16
b} ElE 12 19 2.5 6.1
TryFEUYROZEOAE Y mg/L 6 €0.002 <€0.002 <0.002
v Ik W®E O A W me/L 6| <0.0002 [ <0.0002 | <0.0002
Z—g =y vk ORZE O E W mg/L 6 €0.002 <€0.002 <€0.002
wlle- ¥ 2 v om = &% v mg/L 6| <0.0004 [ <0.0004 [ <0.0004
241N 2 ES | mg/L 6 <0.04 €0.04 <0.04
E% THENLEEY (- F L ~F )| mg/L 6| <0.008 <0.008 | <0.008
o | SR A S B o> F oo Fn) 6 0.07 <€0.01 0.02
21,1,1— FY s wm o % | mg/L 6 <0.03 €0.03 <0.03
H AF—t-TF T —F LMTBE)| mg/L 6| <0.002 €0.002 | <0.002
S Gl h VIRV AR 2 )| me/L 12 9.4 3.8 5.3
LI-Y 78w 8a = F L v mg/lL 6 <0.01 €0.01 <0.01
K s 23] HE[mPN/100mL] 12 11000 1100 4300
i g 1= E | us/em 12 178 117 145
| iz L] |l me/L 12 23 2 7
s 17 [iZ3 F#| mg/L 12 12.2 7.9 9.6
»|B ) D| mg/L 12 2.9 0.6 1.2
WO M A B kR E (DOC)| mg/L 12 2.0 1.2 1.5
ﬂﬂ&% s R Sk (260nm) 12 0.045 0.023 0.033
Eiy U i BE P 12 0.52 0.19 0.32
2 {t ®m 4 * | mg/L 12 0.10 0.02 0.04
eV 2 = 7 e = % mel | 12 0.07|  <0.02 0.04
i i T& %= #| mg/L 12 1.3 0.2 0.8
SHE %= F#| mg/L 12 1.6 0.4 1.1
7sm Ak OZEOA,A W mg/L 6 €0.005 <0.005 €0.005
R YU N\ XK v A R RE| mg/L 6 0.045 0.033 0.037
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mg/L | 474118 | 5H16H | 64138 | 7H18H | 8H15H | 9H13H
1,3-Y7mmr~7ay(D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA (% T &K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008  <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 | <0.0002 | <0.0003 | <0.0002 = <0.0002 | <0.0003
E p N | 0.004 [<0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A ] 0.005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
7 v 2 > A 0.9 <0.002 | <0.009 | <0.009 = <0.002 = <0.009 | <0.009
7 & 7 = — K |0.006|<0.00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006 | <0.00006
7 k ¥ D v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2| 0.003 [ <0.00003 | <0.00003 | <0.00003 | <0.00003 ' <0.00003 | <0.00003
7 N k = 2| 0.006 [ <0.00006 <0. 00006
7 7 7 m — J 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
4 v % # F 4 » |0.005]<0.00005 | <0.00005  <0.00005  <0.00005 | <0.00005 | <0.00005
4 Y 7 = v & A |[0.001[<0.00003  <0.00001 |<0.00001 |<0.00003 | <0.00001 ' <0.00001
4 Y 7 m H 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 uF F 5 (P 0.3 <0.003 | <0.003 | <0.003 = <0.003 = <0.003 | <0.003
4 7 8 ~ v K % (IBP 0.09 | <0.0002 | <0.0009 | <0.0009 | <0.0002 = <0.0009 | <0.0009
4 2 s, v & ¥ v |0.006
4 v & 7 7 5 v [0.009 [<0.00009 | <0.00009  <0.00009 | <0.00009 | <0.00009 | <0.00009
= %2 7 v h A 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003  <0.0003 | <0.0003
7 (72 kA(TY 72V A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
EN A 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRYDTY — (A —n) | 0.004 [<0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7R TEY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
R =R O 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
A R D) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
+ U ¥+ X F m E v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 =z +* xR 2 |0.0006 k0. 000006 <0.00001 K0. 000006 <0. 00001
B 7 = v A ko — s |0.008|<0.00008 | <0.00008 | <0.00008 | <0.00008 @ <0.00008 | <0.00008
7 v % > 7 0.3 <0.003 | <0.003 <0.003 | <0.003
o N U L (NAQ) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 <0.0005 | <0.0005
B o 7 w8 I R 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B A 7 F v ]0.005]<0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
¥ / 2 Z I ¥ (ACN) |0.005 |<0.00005 | <0.00005 | <0.0001 |<0.00005 | <0.00005  <0.0001
* ¥ 7 v v 0.3 <0.003 | <0.003 | <0.003 = <0.003 = <0.003 | <0.003
Y N L o v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
7y &+ =k 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VR T S 0.02 | <0.0002 | <0.0002 <0.0002 | <0.0002
7 v A 7 v oy 7 0.02 | <0.0002 | <0.0002 <0.0002 | <0.0002
suma ) =hknr 7 = (CNP) |0.0001]<0.00003 | <0.00001 | <0.00006 | <0.00003 @ <0.00001 | <0.00006
7 @ A v U ik & |0.003]<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
7w wm # o = ) (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D2 7 + D% > ] 0.001 | <0.00001 | <0.00001 | <0.00004 | <0.00001 | <0.00001 | <0.00004
v 7 7 & A (CYAP) |0.003 |<0.00003 |<0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
2 v m  » (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002  <0.0002 <0.0002
Y 7 w X = J (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
Y 7 v A AR =z (DDVP) | 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 @ <0.00008 | <0.00008
D s 1% > L | 0.005 <0. 00005 <0. 00005
D AJVR R (F L F A ARY) 0.004 | <0.00004 | <0.00004 | <0. 00004 | <0.00004 | <0.00004 | <0.00004
CFAFHNANA—FR I | 0.005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
D2 ¥ 7 5 s ] 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 ' <0.00009 | <0.00009
Yok oy 7 7 F 0 |0.006[<0.00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006 | <0.00006
v = ¥ v (CAD |0.003|<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
A K A b Y 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
v A b = — k 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005  <0.0005 | <0.0005
D2 A b ) v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003  <0.0003 | <0.0003
£ 4 7 ¥ v ]0.003]<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
% ~£ I = v 0.8 <0.008 | <0.008 | <0.008 = <0.008 = <0.008 | <0.008
2 AN AB I (J1—3 ) JY

0.01 | <0.0001 | <0.0001 <0.0001 | <0.0001
AFNAYF AT F—hMITC)
¥ 7 v = v 0.1 <0.001 | <0.001 | <0.00L | <0.001  <0.001  <0.001
¥ v 5 A 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002




4. 1 #FEN FEBINXE (0DF)
F * Y A oA T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FA T 7 Fx— b AFN 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
F F R v oHm T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
> 7 U A ~ U F > ]0.002[<0.00002 | 0.00012 0.00009 | 0.00008
F v 7 H A 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Uz = ¥ L |0.006 ]|<0.00006 <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
Y 7 o ok v (DEP) 0.005 [ <0.00005 | <0.0002 | <0.0003 | <0.00005 | <0.0002 | <0.0003
YUYy T Y = 0.1 | <0.0008 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
[ A ) B 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
¥+ 7 w < I K 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 B — 3 0. 005
= ~2 = + 2 [0.0009] <0.00003 <0.000009 | <0.00003 | <0.00003 KO.000009 | <0.00003
¥ 5 s B = 0.01 | <0.0001 | <0.0001 <0.0001 | <0.0001
¥ Y % ¥ 7 = ¥ [0.004[<0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
EIV IR —h(ETY L —}h) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y ¥ 7 o= v F 4 > [0.002]<0.00003  <0.00002 | <0.00002 | <0.00003 | <0.00002 | <0.00002
vy 7 F o v T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= o * = v 0.05 | <0.0004 = <0.0005 | <0.0005 | <0.0004 | <0.0005 | <0.0005
7 4+ 7 m = s [0.0005k0.000005 <0.000005 <0.000005 K0.000005 KO.000005 <0.000005
7 = = kua F 4 » (MEP) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = /) 7 4 A 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 = U A Y v 0.05 | <0.0005 <0. 0005
7 = ¥ F A& v (PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v k = — | (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0. 00007
7 = ¥ b 7 ¥ I F 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A F 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
7 X J m — 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 4 3 R 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 m 7 oz ¥V v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
R A 0.03 | <0.0003 <0. 0003
7 v F I s v — b 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ I K v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm F F & R 0.004 [ <0.00004 | <0.00004 <0.00004 | <0. 00004
7 m ¥ oa F v — 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m ¥ ¥ I F 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
=T 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = 7 F K 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ J 3 v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v vy oy oowm v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
Ny Vv Yy o v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~ v v 7 = F v 7 ]0.005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o AR v 0.3 <0. 001 <0.003 <0.003 <0. 001 <0.003 <0. 003
A R 2 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTNF Yo (RABYY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
~ v 7 L ok — b 0.07 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
m o2 F T OB — b 0.003 | <0.00003 <0.0001 | <0. 00003 <0.0001
~5FF (=T V) 0.7 | <0.0005 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A =@ 7w v 7 (MCPP) 0.05 [<0.00005 | <0.0005 & <0.0005 | <0.00005 | <0.0005 | <0.0005
A M 3 v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A F T F v b 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F K F A4 > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00008 | <0.00004 | <0.00004 | <0.00008
A F L H A4 L oa v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A M3I ) A FnrEV 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A b VT Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F kB v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 o = N 0.1 <0.001 <0.001 <0. 001 <0.001 <0.001 <0.001
S ] ki — b 0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H 5 = [ 1 <0.01 0. 06 <0.01 0. 04 0. 04 <0.01
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4. 2 TR EEE
B

=% - H %A £ K A H

- mg/L | 47118 | 5A16H | 67130 | 7THI8H | 8A15H | 9713H
1,3-Y7un7na -~y (D-D) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
2,2-DPA (¥ Z K& v ) 0.08 [ <0.0008 | <0.0008 | <0.0008 & <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 [ <0.0002 | <0.0002 | <0.0003 | <0.0002 | <0.0002 | <0.0003
E P N 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 > E 7 2 0.9 <0. 002 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 vt 7 = = k 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
7 ~ 7 D4 v 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
7 = =t * 2 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 2 ~ 7 zx 0. 006 | <0. 00006 <0. 00006
7 5 rJ m - ) 0.03 [ <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
4 Y % ¥ F A v 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
4 YV 7 = v K A 0. 001 |<0.00003 | <0.00001 | <0.00001 | <0.00003 | <0.00001 | <0.00001
A4 Y 7 ua B 7 (MIPC) 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
A4 Y 7 uaF 4 7 v JAPT) 0.3 <0.003 <0.003 <0. 003 <0.003 <0. 003 <0. 003
A4 7 v X v &k A (BP 0.09 | <0.0002 | <0.0009 | <0.0009 | <0.0002 | <0.0009 = <0.0009
A4 2 J v K U v 0. 006
A4 v B ) T 7 v 0. 009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= 2 F u B N 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
7 Y72/ RA(TY T2 KA, EDDP) 0. 006 | <0. 00006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
T N7 v Sy s R 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008  <0.0008
TR T Y — (T ra A — L) 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
TURALT (R T Y) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
R/ = B 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
+ U ¥ 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Ve =z V2 N Z 0. 0006 K0. 000006 <0.00001 <0. 000006 <0. 00001
H 7 oz v A nr — L 0. 008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
Ve L P v 7 0.3 <0.003 <0.003 <0.003 <0.003
B v % U L (NAC) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
hov 7 om0 R 0.04 [ <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004
b/ S A 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /7 7 7 I v (ACN) 0. 005 | <0.00005 | <0. 00005 | <0.0001 | <0.00005 | <0.00005 | <0.0001
x ¥ 7 P N 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
7 2 L =t v 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
7 U K ¥ — 2 0. 02 0. 02 0. 02 0. 02 0. 02 0. 02
VAN A S 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
7w X 7 v oy 7 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
sm ) =hknw 7 = (CNP) [0.0001[<0.00003 |<0.00001 |<0.00006 | <0.00003 | <0.00001 |<0.00006
7 o|m g EF U ok R 0. 003 | <0.00003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ v uw % o = /L (TPN) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v 7 A v N 0.001 |<0.00001 | <0.00001 |<0.00004 | <0.00001 |<0.00001 | <0.00004
v 7 7 & A (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v o > (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002  <0.0002
v 7 m < = L (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 = <0.0003
Y 7 v ) AR Z (DDVP) 0. 008 | <0. 00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
D4 7 v v k 0. 005 <0. 00005 <0. 00005
VALK AT VT F AR 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
CFF AN A — R K 0. 005 | <0.00005 | <0.00005 <0.00005 | <0.00005
D4 F 7 = Jb 0. 009 | <0.00009 | <0.00009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009
ok y ST F 0. 006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
v = Y v (CAD 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA ¥ X b U v 0.02 [ <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
vooA k= = 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
D2 A k U N 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
A Y A Y A 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A A =t v 0.8 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
B AR AR (I =3 15) B

0.01 [ <0.0001 | <0.0001 <0.0001 | <0.0001

AFNAYF AT F—hMITC)
¥ 7 D = I 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
7 v 7 2 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002




4. 2 FRII HMER (DDF)

F ¥ Hm o T 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAZ7 72— FAFN 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F o X o T 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 U v U F v 0. 002 | <0.00002 | 0.00008 0.00009 | 0.00008

7 v 7 J1 v 7 (MBPMC) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
k U 7 = | 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
U 27 v v A& » (DEP) 0. 005 | <0.00005 | <0.0002 | <0.0003 |<0.00005 | <0.0002 | <0.0003
MY oYy T Y = 0.1 <0. 0008 <0.001 <0.001 | <0.0008 <0.001 <0.001
kUo7 o 7 U 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 & <0.0006
A=A 2 K 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
N 7 = - k 0. 005

= ~ =4 R A 0. 0009 [ <0. 00003 £0.000009 | <0.00003 | <0.00003 <0.000009 | <0.00003
vz 7 o= )b 0.01 <0.0001 | <0.0001 <0.0001 | <0.0001

vz Y X v 7 o v 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
IR = (ETY L —}) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
vy ¥ 7y FF 0. 002 | <0.00003 | <0.00002 | <0.00002 | <0.00003 | <0.00002 | <0.00002
vy 7 F oh o 7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= = % = v 0.05 <0.0004 | <0.0005 | <0.0005 | <0.0004 | <0.0005 | <0.0005
7 { 7 m = ) 0. 0005 K0. 000005 £0.000005 KO.000005 K0.000005 €0.000005 <0.000005
7 = = h a F 4 » (MEP) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 J v 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 = YV N 0.05 <0. 0005 <0. 0005

7 = v F F v (PP) 0. 006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v k= — | (PAP) 0. 007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v b7 ¥ I R 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
7 X 7 = 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v B N A 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 =z ¥V v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v T Y F A 0.03 <0. 0003 <0. 0003

7 v F 7 7 o — N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 nr v 2 v 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 & <0.0009
7 v  F O K R 0. 004 | <0. 00004 | <0.00004 <0.00004 | <0. 00004

7 m v oa ;v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 nr S AN N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y = 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ® J F N 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ / 3 v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ 7 = v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~N v Y v vy oa v 0.09 <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
A S S 0. 005 | <0. 00005 | <0.00005 <0.00005 | <0. 00005

~ v b v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o4 A E ) v 0.3 <0.001 <0.003 <0.003 <0.001 <0.003 <0.003
~ v 7 7 v T 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
RYTNZ Y (RARTY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v 7 v o' — b 0.07 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
A F 7T B — b 0. 003 | <0. 00003 <0. 0001 |<0.00003 <0. 0001
~ 7 FF (v TF V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A @ 7w oy 7 (MCPP) 0.05 [<0.00005 | <0.0005 | <0.0005 |<0.00005 | <0.0005 | <0.0005
# 4 < IV 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A v 7 x v N 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 & <0.0006
A F ¥ F & o (DMIP) 0. 004 | <0.00004 | <0.00004 | <0.00008 | <0.00004 | <0.00004 | <0.00008
A F VT A4 K oa v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A M I /) A b mrE 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 & <0.0004
A k Yy 7 v v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F v b 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 =4 = IV 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
S J = — k 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
H Hi & 1% fig 1 <0.01 0. 04 <0.01 0. 04 0. 04 <0.01

1. RB04FEFEIE, kPG R A MEfk R 3 1 1I8TE B Hh o0 11618 H A I E L7,
2. BRI, 82 O BROBR HEEZ 2O B IEETRLUZEORITHD,
3. REOBY O SUISITEE BRI ESN 22w/,




1. 4. 3 RKEN HE=EE
%t B 5 . B A i o3 7K I ]

mg/L | 474118 | 5H16H | 64138 | 7H18H | 8H15H | 9H13H
1,3-Y7mmr~7ay(D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA (% T &K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008  <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 | <0.0002 | <0.0003 | <0.0002 = <0.0002 | <0.0003
E p N | 0.004 [<0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A ] 0.005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
7 v 2 > A 0.9 <0.002 | <0.009 | <0.009 = <0.002 = <0.009 | <0.009
7 & 7 = — K |0.006|<0.00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006 | <0.00006
7 k ¥ D v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2| 0.003 [ <0.00003 | <0.00003 | <0.00003 | <0.00003 ' <0.00003 | <0.00003
7 N k = 2| 0.006 [ <0.00006 <0. 00006
7 7 7 m — J 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
4 v % # F 4 » |0.005]<0.00005 | <0.00005  <0.00005  <0.00005 | <0.00005 | <0.00005
4 Y 7 = v & A |[0.001[<0.00003  <0.00001 |<0.00001 |<0.00003 | <0.00001 ' <0.00001
4 Y 7 m H 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 uF F 5 (P 0.3 <0.003 | <0.003 | <0.003 = <0.003 = <0.003 | <0.003
4 7 8 ~ v K % (IBP 0.09 | <0.0002 | <0.0009 | <0.0009 | <0.0002 = <0.0009 | <0.0009
4 2 s, v & ¥ v |0.006
4 v & 7 7 5 v [0.009 [<0.00009 | <0.00009  <0.00009 | <0.00009 | <0.00009 | <0.00009
= %2 7 v h A 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003  <0.0003 | <0.0003
7 (72 kA(TY 72V A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
EN A 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRYDTY — (A —n) | 0.004 [<0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7R TEY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
R =R O 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
A R D) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
F U+ 2 b r B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 =z +* xR 2 |0.0006 k0. 000006 <0.00001 K0. 000006 <0. 00001
B 7 = v A ko — s |0.008|<0.00008 | <0.00008 | <0.00008 | <0.00008 @ <0.00008 | <0.00008
7 v v > 7 0.3 <0.003 | <0.003 <0.003 | <0.003
o N U L (NAQ) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 <0.0005 | <0.0005
B o 7 w8 I R 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B A 7 F v ]0.005]<0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
¥ / 2 Z I ¥ (ACN) |0.005 |<0.00005 | <0.00005 | <0.0001 |<0.00005 | <0.00005  <0.0001
* ¥ 7 v v 0.3 <0.003 | <0.003 | <0.003 = <0.003 = <0.003 | <0.003
Y N L o v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
7y &+ =k 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VR T S 0.02 | <0.0002 | <0.0002 <0.0002 | <0.0002
7 v A 7 v oy 7 0.02 | <0.0002 | <0.0002 <0.0002 | <0.0002
suma ) =hknr 7 = (CNP) |0.0001]<0.00003 | <0.00001 | <0.00006 | <0.00003 @ <0.00001 | <0.00006
7 @ A v U ik & |0.003]<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
7w wm # o = ) (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D2 7 + D% > ] 0.001 | <0.00001 | <0.00001 | <0.00004 | <0.00001 | <0.00001 | <0.00004
v 7 7 & A (CYAP) |0.003 |<0.00003 |<0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
2 v m  » (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002  <0.0002 <0.0002
Y 7 w X = J (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
Y 7 v A AR =z (DDVP) | 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 @ <0.00008 | <0.00008
D s 1% > L | 0.005 <0. 00005 <0. 00005
D AJVR R (F L F A ARY) 0.004 | <0.00004 | <0.00004 | <0. 00004 | <0.00004 | <0.00004 | <0.00004
CFAFHNANA—FR I | 0.005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
D2 ¥ 7 5 s ] 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 ' <0.00009 | <0.00009
Yok oy 7 7 F 0 |0.006[<0.00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006 | <0.00006
v = ¥ v (CAD |0.003|<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
A K A b Y 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005  <0.0005 | <0.0005
D2 A b ) v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003  <0.0003 | <0.0003
£ 4 7 ¥ v ]0.003]<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
% ~£ I = v 0.8 <0.008 | <0.008 | <0.008 = <0.008 = <0.008 | <0.008
2 AN AB I (J1—3 ) JY

0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001
AFNAYF AT F—FMITC)
v 7 D2 = v 0.1 <0.001 <0. 001 <0. 001 <0.001 <0.001 <0. 001
F 7 7 2 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002




4. 3 KNl #FEE (0IF)

F ¥ Hm o T 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAZ7 72— FAFN 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F o X o T 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 U v U F v 0. 002 | <0.00002 | 0.00076 0.00005 | 0.00002

7 v 7 J1 v 7 (MBPMC) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
k U 7 = | 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
U 27 v v A& » (DEP) 0. 005 | <0.00005 | <0.0002 | <0.0003 |<0.00005 | <0.0002 | <0.0003
MY oYy T Y = 0.1 <0. 0008 <0.001 <0.001 | <0.0008 <0.001 <0.001
kUo7 o 7 U 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 & <0.0006
A=A 2 K 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
N 7 = - k 0. 005

= ~ =4 R A 0. 0009 [ <0. 00003 K0.000009 | <0.00003 | <0.00003 £0.000009 | <0.00003
vz 7 o= )b 0.01 <0. 0001 0. 0002 <0.0001 | <0.0001

vz Y X v 7 o v 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
IR = (ETY L —}) 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
vy ¥ 7y FF 0. 002 | <0.00003 | <0.00002 | <0.00002 | <0.00003 | <0.00002 | <0.00002
vy 7 F oh o 7 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= = % = v 0.05 <0.0004 | <0.0005 | <0.0005 | <0.0004 | <0.0005 | <0.0005
7 { 7 m = ) 0. 0005 K0. 000005 £0.000005 KO.000005 K0.000005 €0.000005 <0.000005
7 = = h a F 4 » (MEP) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 J v 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 = YV N 0.05 <0. 0005 <0. 0005

7 = v F F v (PP) 0. 006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v k= — | (PAP) 0. 007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v b7 ¥ I R 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
7 X 7 = 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v B N A 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 =z ¥V v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v T Y F A 0.03 <0. 0003 <0. 0003

7 v F 7 7 o — N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 nr v 2 v 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 & <0.0009
7 v  F O K R 0. 004 | <0. 00004 | <0.00004 <0.00004 | <0. 00004

7 m v oa ;v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 nr S AN N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y = 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ® J F N 0.1 <0.001 0. 001 <0.001 <0.001 <0.001 <0.001
~ / 3 v 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ 7 = v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~N v Y v vy oa v 0.09 <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
A S S 0. 005 | <0. 00005 | <0.00005 <0.00005 | <0. 00005

~ v b v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o4 A E ) v 0.3 <0.001 <0.003 <0.003 <0.001 <0.003 <0.003
~ v 7 7 v T 0. 04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
RYTNZ Y (RARTY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v 7 v o' — b 0.07 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
A F 7T B — b 0. 003 | <0. 00003 <0. 0001 |<0.00003 <0. 0001
~ 7 FF (v TF V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A @ 7w oy 7 (MCPP) 0.05 [<0.00005 | <0.0005 | <0.0005 |<0.00005 | <0.0005 | <0.0005
# 4 < IV 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A v 7 x v N 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 & <0.0006
A F ¥ F & o (DMIP) 0. 004 | <0.00004 | <0.00004 | <0.00008 | <0.00004 | <0.00004 | <0.00008
A F VT A4 K oa v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A M I /) A b mrE 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 & <0.0004
A k Yy 7 v v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F v b 0.02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 =4 = IV 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
S J = — k 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
H Hi & 1% fig 1 <0.01 0.41 <0.01 0.02 0.01 <0.01
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1. 4. 4 HE)Il EFiE
=% B T H %A £ K A H

mg/L | 47118 | 5A16H | 67130 | 7THI8H | 8A15H | 9713H
1,3-Y7un7na -~y (D-D) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
2,2-DPA (¥ Z K& v ) 0.08 [ <0.0008 | <0.0008 | <0.0008 & <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 [ <0.0002 | <0.0002 | <0.0003 | <0.0002 | <0.0002 | <0.0003
E P N 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 > E 7 2 0.9 <0. 002 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 vt 7 = = k 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
7 ~ 7 D4 v 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
7 = =t * 2 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 2 ~ 7 zx 0. 006 | <0. 00006 <0. 00006
7 5 rJ m - ) 0.03 [ <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
4 Y % ¥ F A v 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
4 YV 7 = v K A 0. 001 |<0.00003 | <0.00001 | <0.00001 | <0.00003 | <0.00001 | <0.00001
A4 Y 7 ua B 7 (MIPC) 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
A4 Y 7 uaF 4 7 v JAPT) 0.3 <0.003 <0.003 <0. 003 <0.003 <0. 003 <0. 003
A4 7 v X v &k A (BP 0.09 | <0.0002 | <0.0009 | <0.0009 | <0.0002 | <0.0009 = <0.0009
A4 2 J v K U v 0. 006
A4 v B ) T 7 v 0. 009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= 2 F u B N 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
7 Y72/ RA(TY T2 KA, EDDP) 0. 006 | <0. 00006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
T N7 v Sy s R 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008  <0.0008
TR T Y — (T ra A — L) 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
TURALT (R T Y) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
R/ = B 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
+ U ¥ 2 b m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Ve =z V2 N Z 0. 0006 K0. 000006 <0.00001 <0. 000006 <0. 00001
H 7 oz v A nr — L 0. 008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
Ve L P v 7 0.3 <0.003 <0.003 <0.003 <0.003
B v % U L (NAC) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
hov 7 om0 R 0.04 [ <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004
b/ S A 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /7 7 7 I v (ACN) 0. 005 | <0.00005 | <0. 00005 | <0.0001 | <0.00005 | <0.00005 | <0.0001
x ¥ 7 P N 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
7 2 L =t v 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
7 U K ¥ — 2 0. 02 0. 02 0. 02 0. 02 0. 02 0. 02
VAN A S 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
7w X 7 v oy 7 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
sm ) =hknw 7 = (CNP) [0.0001[<0.00003 |<0.00001 |<0.00006 | <0.00003 | <0.00001 |<0.00006
7 o|m g EF U ok R 0. 003 | <0.00003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ v uw % o = /L (TPN) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v 7 A v N 0.001 |<0.00001 | <0.00001 |<0.00004 | <0.00001 |<0.00001 | <0.00004
v 7 7 & A (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v o > (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002  <0.0002
v 7 m < = L (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 = <0.0003
Y 7 v ) AR Z (DDVP) 0. 008 | <0. 00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
D4 7 v v k 0. 005 <0. 00005 <0. 00005
VALK AT VT F AR 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
CFF AN A — R K 0. 005 | <0.00005 | <0.00005 <0.00005 | <0.00005
D4 F 7 = Jb 0. 009 | <0.00009 | <0.00009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009
ok y ST F 0. 006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
v = Y v (CAD 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA ¥ X b U v 0.02 [ <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
vooA k= = 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
D2 A k U N 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
A Y A Y A 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A A =t v 0.8 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
B AR AR (I =3 15) B

0.01 [ <0.0001 | <0.0001 <0.0001 | <0.0001
AFNAYF AT F—hMITC)
¥ 7 D = I 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
7 v 7 2 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002




4. 4 E) BHEIHE (0DF)
F *+ ¥ o A T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FA T 7 Fx— b AFN 0.3 <0.003 | <0.003 = <0.003 | <0.003 | <0.003 | <0.003
F F R v oHm T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
> 7 U A ~ U F > ]0.002[<0.00002 | 0.00028 0.00002 | <0. 00002
F L 7 H s 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Uz = ¥ L |0.006 ]|<0.00006 <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
KU 2 o sk v (DEP) 0.005 [ <0.00005 | <0.0002 | <0.0003 | <0.00005 | <0.0002 | <0.0003
Y Y5 Y — 0.1 | <0.0008 | <0.001 <0.001 | <0.0008 | <0.001 <0. 001
[ A ) B 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
>+ 7 v < 3 F 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 B — 3 0. 005
= ~2 = R 2 [0.0009] <0.00003 <0.000009 | <0.00003 | <0.00003 KO.000009 | <0.00003
¥ 5 s o = )L 0.01 | <0.0001 | <0.0001 <0.0001 | <0.0001
¥ Y % ¥ 7 = ¥ [0.004[<0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
EIV IR —h(ETY L —}h) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y ¥ 7 o= v F 4 > [0.002]<0.00003  <0.00002 | <0.00002 | <0.00003 | <0.00002 | <0.00002
vy 7 F o v T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= o * o v 0.05 | <0.0004 = <0.0005 | <0.0005 | <0.0004 | <0.0005 | <0.0005
7 4+ 7 m = s [0.0005k0.000005 <0.000005 <0.000005 K0.000005 KO.000005 <0.000005
7 = = k1 F 4 » (MEP) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 # 2 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A N Y 0.05 | <0.0005 <0. 0005
7 = ¥ F A& v (PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v k = — | (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0. 00007
7 = ¥ b 5 B I F 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 { F 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
7 % 7 . - 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 4 3 R 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
R A 0.03 | <0.0003 <0. 0003
7 v F 5 v — 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ I K v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm F F & R 0.004 [ <0.00004 | <0.00004 <0.00004 | <0. 00004
7 m v a F v — 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m ¥ ¥ I F 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
=T 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = 7 F K 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ J 2 v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v vy oy oowm v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
Ny Y v v s oa v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~ v Y 7 o= F v 7 0,005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
L F 4 A B Y 0.3 <0. 001 <0.003 <0.003 <0. 001 <0.003 <0. 003
N v 75 o T 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
NRyTAF Y (RAB YY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
~ v 7 L ok — b 0.07 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
F 2 F 7 ¥ — k 0.003 | <0.00003 <0.0001 | <0. 00003 <0.0001
~5FF (=T V) 0.7 | <0.0005 = <0.007 | <0.007 | <0.0005 | <0.007 | <0.007
A =@ 7w v 7 (MCPP) 0.05 [<0.00005 | <0.0005 & <0.0005 | <0.00005 | <0.0005 | <0.0005
A Y 3 v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A X 5 X ¥ 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F K F A4 > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00008 | <0.00004 | <0.00004 | <0.00008
A F L H A4 L oa v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A KNI /) A b v 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A b VT Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F k& v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 = = v 0.1 <0.001 <0.001 <0. 001 <0.001 <0.001 <0.001
S ] ES — ~ 0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H E = [ 1 <0.01 0. 14 <0.01 0.01 <0.01 <0.01
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1. 4. 5 RN EINERED
= 5 m . SR
mg/L | 5H16H 7H18H | 9HI13H 3H13H
1,3-Y27nun 7 ay(D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2DPA (% 7 K ¥ ) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
E p N | 0.004 [ <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A ] 0.005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
7 v 2 5 N 0.9 <0. 002 <0. 009 <0.009 <0. 002
7 k& 7 = — b+ ]0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
7 k 5 D v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2] 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 b 5 2] 0.006 | <0.00006 <0. 00006
7 5 J v — J 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
4 v % % F F > |[0.005] <0.00005 = <0.00005 | <0.00005 | <0.00005
4 v 7 = v & A [0.001] <0.00003 & <0.00001 | <0.00001 | <0.00003
A4 Y 7 u H N 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FaF F T v IPD 0.3 <0.003 <0.003 <0.003 <0.003
4 7 v <X ¥ ik % (BP) 0.09 | <0.0002 = <0.0009 | <0.0009 | <0.0002
4 3 2 v x ¥ »r |[0.006
4 v % 7 7 7 > [0.009] <0.00009 = <0.00009 | <0.00009 | <0.00009
= 2 F wu H L 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
747V RA(TY 72k A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
E N A - AR 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICT Y — i (=ra A —L) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7 (R TEY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
E i A =R A 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
+ U ¥+ z2 h m B v 0.1 <0.001 <0.001 <0.001 <0.001
7 =z a N 2 |0.0006|<0. 000006 <0. 000006
f 7 = v A b — s |0.008 | <0.00008 @ <0.00008 | <0.00008 | <0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003
J v N U L (NAC) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
o 7 om NI F 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B AR 7 F > ]0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
¥ , 2/ 2 I v (ACN) |0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
* ¥ 7 2 v 0.3 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
VA A X 2 <0.02 <0.02 <0.02 <0.02
J v & ¥ F*x — |k 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sy m 2 7 Bm 9w 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sm)=hkm 7= (CNP) |0.0001| <0.00003 @ <0.00001 | <0.00001 | <0.00003
7 m g ¥ U &k A |0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
7 mowu # 1 = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + D > [ o0.001| <0.00001 | <0.00001 | 0.00004 @ <0.00001
v 7 J & A (CYAP) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v w  » (DCMU) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
Y 7 o ~ = o (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 7 m A A Z (DDVP) | 0.008 [ <0.00008 | <0.00008 | <0.00008 | <0.00008
2 Y % > L | o0.005
P ANV (2T LT F AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFFHANA—RFR I |0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005
D 7 *+ = | 0.009 | <0.00009 = <0.00009 @ <0.00009 | <0.00009
v oonmAk w7 7 F o |0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
v < ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ s v ]0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
5 e A = v 0.8 <0.008 <0.008 <0.008 <0.008
AN AB I (J1— 3 ) JY
0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
AFNAYFF T F—HMITC)
¥ 7 D = v 0.1 <0.001 <0.001 <0.001 <0. 001
¥ v 4 A 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002




4. 5 FERN SENERER (0DF)

F F Y H o 7 0. 08 <0.0008 | <0.0008 | <0.0008 | <0.0008
FAET 7 F— AT 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF R o T 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
F 7 U o N U F v 0.002 | <0.00002 | 0.00014 | 0.00005 | <0.00002
F v 7 H 7 (MBPMC) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
YU 2 v ok > (DEP) 0.005 | <0.00005 = <0.0002 | <0.0002 | <0.00005
YUYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
- S B 0.06 | <0.0006 | <0.0006 = <0.0006 | <0.0006
> F o s I R 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
/3 7 = — 3 0. 005

1= ~ o + Z - 10.0009] <0.00003 |<0.000009 |<0.000009 | <0.00003
v 5 s u = 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
S S A A S 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7Y x—hMETSL—]) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
vy ¥ 7oy F A 0.002 | <0.00003 = <0.00002 | <0.00002 | <0.00003
SR S 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
= o * =t v 0. 05 <0.0004 | <0.0005 0.0005 | <0.0004
7 4 7 wm = 2 [0.0005[<0.000005 | 0.000006 <0.000005 |<0.000005
7 = = ko F F » (MEP) 0.01 <0. 0001 0.0002 | <0.0001 | <0.0001
7 = / 7 #H ) 7 (BPMO) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N2 0.05 | <0.0005 <0. 0005
7 = v F A& v (IPP) 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
7 = v bk = — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
7 v 2 + 2 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 v T Y F A 0.03 <0. 0003 <0. 0003
7 v F I r o — L 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w=m ¥ I K 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
7 wm  F & K R 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7 m v a3 ;Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v v ¥ I F 0.05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 ol R F Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v ® 7 F R 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J N V2 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
S = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001
A - 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
Ny Y 7 o2 F oy T 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v v N 0.2 <0. 002 <0. 002 <0. 002 <0. 002
Ny T 4 ARy 0.3 <0. 001 <0. 003 <0. 003 <0. 001
N v 7 T h T 0. 04 <0.0004 | <0.0004 = <0.0004 | <0.0004
RyTINT Y (RRr YY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L & — Fk 0.07 <0.0007 | <0.0007 = <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 | <0.00003 <0. 00003
~ T FAF L (~T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A a2 7w v 7 (MCPP) 0.05 | <0.00005 | <0.0005 = <0.0005 | <0.00005
A v 3 v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A X T X v )L 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
A F L KX A4 A v v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A ~MI A MrE VY 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004
A N U 7Y 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A 7 = F v h 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001
S Jj 5 — S 0.005 | <0.00005 = <0.00005 | <0.00005 | <0.00005
[ H ] 1 il 1 <0.01 0. 10 0.08 <0.01
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1. 4. 6 ERAEI EINESHKERM
= 5 m . SR
mg/L | 5H16H 7H18H | 9HI13H 3H13H
1,3-Y27nun 7 ay(D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2DPA (% 7 K ¥ ) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
E p N | 0.004 [ <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A ] 0.005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
7 v 2 5 N 0.9 <0. 002 <0. 009 <0.009 <0. 002
7 & 7 = — b+ ]0.006| 0.00007 <0.00006 | <0.00006 | <0.00006
7 k 5 D v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2] 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 b 5 2] 0.006 | <0.00006 <0. 00006
7 5 J v — J 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
4 v % % F F > |[0.005] <0.00005 = <0.00005 | <0.00005 | <0.00005
4 v 7 = v & A [0.001] <0.00003 & <0.00001 | <0.00001 | <0.00003
A4 Y 7 u H N 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FaF F T v IPD 0.3 <0.003 <0.003 <0.003 <0.003
4 7 v <X ¥ ik % (BP) 0.09 | <0.0002 = <0.0009 | <0.0009 | <0.0002
4 3 2 v x ¥ »r |[0.006
4 v % 7 7 7 > [0.009] <0.00009 = <0.00009 | <0.00009 | <0.00009
= 2 F wu H L 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
747V RA(TY 72k A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
E N A - AR 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICT Y — i (=ra A —L) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7 (R TEY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
E i A =R A 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
+ U ¥+ z2 h m B v 0.1 <0.001 <0.001 <0.001 <0.001
7 =z a N 2 |0.0006|<0. 000006 <0. 000006
f 7 = v A b — s |0.008 | <0.00008 @ <0.00008 | <0.00008 | <0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003
J v N U L (NAC) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
o 7 om NI F 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B AR 7 F > ]0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
¥ , 2/ 2 I v (ACN) |0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
* ¥ 7 2 v 0.3 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
VA A X 2 <0.02 <0.02 <0.02 <0.02
J v & ¥ F*x — |k 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sy m 2 7 Bm 9w 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sm)=hkm 7= (CNP) |0.0001| <0.00003 @ <0.00001 | <0.00001 | <0.00003
7 m g ¥ U &k A |0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
7 mowu # 1 = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + D > [o0.001| 0.00002 | <0.00001 | <0.00001 | <0.00001
v 7 J & A (CYAP) |0.003 | <0.00003 = <0.00003 | <0.00003 | <0.00003
Y v w  » (DCMU) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
Y 7 o ~ = o (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 7 m A A Z (DDVP) | 0.008 [ <0.00008 | <0.00008 | <0.00008 | <0.00008
2 Y % > L | o0.005
P ANV (2T LT F AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFFHANA—RFR I |0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005
D 7 *+ = | 0.009 | <0.00009 = <0.00009 @ <0.00009 | <0.00009
v oonmAk w7 7 F o |0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
v < ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ s v ]0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
5 e A = v 0.8 <0.008 <0.008 <0.008 <0.008
AN AB I (J1— 3 ) JY
0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
AFNAYFF T F—HMITC)
¥ 7 v = I 0.1 <0.001 <0.001 <0.001 <0. 001
¥ v 4 A 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002




4. 6 EHN ENEHRER (0DOF)

F F Y H o 7 0. 08 <0.0008 | <0.0008 | <0.0008 | <0.0008
FAET 7 F— AT 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF R o T 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
F 7 U o N U F v 0.002 | <0.00002 | 0.00009 | 0.00005 | <0.00002
F v 7 H 7 (MBPMC) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
YU 2 v ok > (DEP) 0.005 | <0.00005 = <0.0002 | <0.0002 | <0.00005
YUYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
- S B 0.06 | <0.0006 | <0.0006 = <0.0006 | <0.0006
> F o s I R 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
/3 7 = — 3 0. 005

1= ~ o + Z - 10.0009] <0.00003 |<0.000009 |<0.000009 | <0.00003
v 5 s u = 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
S S A A S 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7Y x—hMETSL—]) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
vy ¥ 7oy F A 0.002 | <0.00003 = <0.00002 | <0.00002 | <0.00003
SR S 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
= o * =t v 0. 05 <0.0004 | <0.0005 = <0.0005 | <0.0004
7 4 7 wm = 2 [0.0005[<0.000005 | 0.000005 <0.000005 |<0.000005
7 = = ko F F » (MEP) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = / 7 #H ) 7 (BPMO) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N2 0.05 | <0.0005 <0. 0005
7 = v F A& v (IPP) 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
7 = v bk = — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
7 v 2 + 2 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 v T Y F A 0.03 <0. 0003 <0. 0003
7 v F I r o — L 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w=m ¥ I K 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
7 wm  F & K R 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7 m v a3 ;Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v v ¥ I F 0.05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 ol R F Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v ® 7 F R 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J N V2 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
S = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001
A - 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
Ny Y 7 o2 F oy T 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v v N 0.2 <0. 002 <0. 002 <0. 002 <0. 002
Ny T 4 ARy 0.3 <0. 001 <0. 003 <0. 003 <0. 001
N v 7 T h T 0. 04 <0.0004 | <0.0004 = <0.0004 | <0.0004
RyTINT Y (RRr YY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L & — Fk 0.07 <0.0007 | <0.0007 = <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 | <0.00003 <0. 00003
~ T FAF L (~T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A a2 7w v 7 (MCPP) 0.05 | 0.00006 | <0.0005 = <0.0005 | <0.00005
A v 3 v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A X T X v )L 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
A F L KX A4 A v v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A ~MI A MrE VY 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004
A N U 7Y 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A 7 = F v h 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001
S Jj 5 — S 0.005 | <0.00005 = <0.00005 | <0.00005 | <0.00005
[ H ] 1 il 1 0.03 0. 06 0.03 <0.01
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1. 4. 7 XEI EINERER
= 5 m . SR
mg/L | 5H16H 7H18H | 9HI13H 3H13H
1,3-Y27nun 7 ay(D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA (% T &K v ) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
E p N | 0.004 [ <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A ] 0.005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
7 v 2 5 N 0.9 <0. 002 <0. 009 <0.009 <0. 002
7 k& 7 = — b+ ]0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
7 k 5 D v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2] 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 b 5 2] 0.006 | <0.00006 <0. 00006
7 5 J v — J 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
4 v % % F F > |[0.005] <0.00005 = <0.00005 | <0.00005 | <0.00005
4 v 7 = v & A [0.001] <0.00003 & <0.00001 | <0.00001 | <0.00003
A4 Y 7 u H N 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FaF F T v IPD 0.3 <0.003 <0.003 <0.003 <0.003
4 7 v <X ¥ ik % (BP) 0.09 | <0.0002 = <0.0009 | <0.0009 | <0.0002
4 3 2 v x ¥ »r |[0.006
4 v % 7 7 7 > [0.009] <0.00009 = <0.00009 | <0.00009 | <0.00009
= 2 F wu H L 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
747V RA(TY 72k A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
E N A - AR 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICT Y — i (=ra A —L) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7 (R TEY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
R =N O 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
+ U ¥+ z2 h m B v 0.1 <0.001 <0.001 <0.001 <0.001
7 =z a N 2 |0.0006|<0. 000006 <0. 000006
f 7 = v A b — s |0.008 | <0.00008 @ <0.00008 | <0.00008 | <0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003
o N U L (NAQ) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
o 7 om NI F 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B AR 7 F > ]0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
¥ , 2/ 2 I v (ACN) |0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
* ¥ 7 2 v 0.3 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
VA A X 2 <0.02 <0.02 <0.02 <0.02
J v & ¥ F*x — |k 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sy m 2 7 Bm 9w 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sm)=hkm 7= (CNP) |0.0001| <0.00003 @ <0.00001 | <0.00001 | <0.00003
7 m g ¥ U &k A |0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
7 mowu # 1 = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + v > [o0.001| 0.00001 | <0.00001 | 0.00001 | 0.00002
v 7 J & A (CYAP) |0.003 | <0.00003 @ <0.00003 | <0.00003 | <0.00003
Y v w  » (DCMU) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
Y 7 o ~ = o (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 7 m A A Z (DDVP) | 0.008 [ <0.00008 | <0.00008 | <0.00008 | <0.00008
2 Y % > L | o0.005
P ANV (2T LT F AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFFHANA—RFR I |0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005
D 7 *+ = | 0.009 | <0.00009 = <0.00009 @ <0.00009 | <0.00009
v oonmAk w7 7 F o |0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
v < ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ s v ]0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
5 e A = v 0.8 <0.008 <0.008 <0.008 <0.008
AN AB I (J1— 3 ) JY
0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
AFNAYFF T F—HMITC)
¥ 7 v = I 0.1 <0.001 <0.001 <0.001 <0. 001
¥ v 4 A 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002




XEN EINER

BERl (0DF)

7
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4.

¥ 0.08 <0.0008 | <0.0008 | <0.0008 | <0.0008
F AT 7 F A F L 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF R o T 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
F 7 U o N U F v 0.002 | <0.00002 | 0.00004 | 0.00002 | <0.00002
F v 7 H 7 (MBPMC) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
YU 2 v ok > (DEP) 0.005 | <0.00005 = <0.0002 | <0.0002 | <0.00005
YUYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
- S B 0.06 | <0.0006 | <0.0006 = <0.0006 | <0.0006
> F o s I R 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
/3 7 = — 3 0. 005

1= ~ o + Z - 10.0009] <0.00003 |<0.000009 |<0.000009 | <0.00003
v 5 s u = 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
S S A A S 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7Y x—hMETSL—]) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
vy ¥ 7oy F A 0.002 | <0.00003 = <0.00002 | <0.00002 | <0.00003
SR S 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
= o * =t v 0. 05 <0.0004 | <0.0005 = <0.0005 | <0.0004
7 4 7 wm = 2 [0.0005[<0.000005 <0.000005 <0.000005 | 0.000005
7 = = ko F F » (MEP) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = / 7 #H ) 7 (BPMO) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N2 0.05 | <0.0005 <0. 0005
7 = v F A& v (IPP) 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
7 = v bk = — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
7 v 2 + 2 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 v T Y F A 0.03 <0. 0003 <0. 0003
7 v F I r o — L 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w=m ¥ I K 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
7 wm  F & K R 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7 m v a3 ;Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v v ¥ I F 0.05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 ol R F Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v ® 7 F R 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J N V2 0.02 0.0002 = <0.0002 | <0.0002 | <0.0002
S = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001
A - 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
Ny Y 7 o2 F oy T 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v v N 0.2 <0. 002 <0. 002 <0. 002 <0. 002
Ny T 4 ARy 0.3 <0. 001 <0. 003 <0. 003 <0. 001
N v 7 T h T 0. 04 <0.0004 | <0.0004 = <0.0004 | <0.0004
RyTINT Y (RRr YY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L & — Fk 0.07 <0.0007 | <0.0007 = <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 | <0.00003 <0. 00003
~ T FAF L (~T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A a2 7w v 7 (MCPP) 0.05 | <0.00005 | <0.0005 = <0.0005 | <0.00005
A v 3 v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A X T X v )L 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
A F L KX A4 A v v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A ~MI A MrE VY 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004
A N U 7Y 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A 7 = F v h 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001
S Jj 5 — S 0.005 | <0.00005 = <0.00005 | <0.00005 | <0.00005
[ H ] 1 fiE 1 0. 02 0. 02 0. 02 0.03
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4. 8 TEN ENESKRER

= 5 m . SR

mg/L | 5H16H 7H18H | 9HI13H 3H13H
1,3-Y27nun 7 ay(D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2DPA (% 7 K ¥ ) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
E p N | 0.004 [ <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A ] 0.005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
7 v 2 5 N 0.9 <0. 002 <0. 009 <0.009 <0. 002
7 k& 7 = — b+ ]0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
7 k 5 D v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2] 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 b 5 2] 0.006 | <0.00006 <0. 00006
7 5 J v — J 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
4 v % % F F > |[0.005] <0.00005 = <0.00005 | <0.00005 | <0.00005
4 v 7 = v & A [0.001] <0.00003 & <0.00001 | <0.00001 | <0.00003
A4 Y 7 u H N 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FaF F T v IPD 0.3 <0.003 <0.003 <0.003 <0.003
4 7 v <X ¥ ik % (BP) 0.09 | <0.0002 = <0.0009 | <0.0009 | <0.0002
4 3 2 v x ¥ »r |[0.006
4 v % 7 7 7 > [0.009] <0.00009 = <0.00009 | <0.00009 | <0.00009
= 2 F wu H L 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
747V RA(TY 72k A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
E N A - AR 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICT Y — i (=ra A —L) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7 (R TEY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001
E i A =R A 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
+ U ¥+ z2 h m B v 0.1 <0.001 <0.001 <0.001 <0.001
7 =z a N 2 |0.0006|<0. 000006 <0. 000006
f 7 = v A b — s |0.008 | <0.00008 @ <0.00008 | <0.00008 | <0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003
s % U L (NAC) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
o 7 om NI F 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B AR 7 F > ]0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
¥ , 2/ 2 I v (ACN) |0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
* ¥ 7 v Nz 0.3 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
VA A X 2 <0.02 <0.02 <0.02 <0.02
J v & ¥ F*x — |k 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sy m 2 7 Bm 9w 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sm)=hkm 7= (CNP) |0.0001| <0.00003 @ <0.00001 | <0.00001 | <0.00003
7 m g ¥ U &k A |0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
7 mowu # 1 = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + v > |o.001 | 0.00002 @ <0.00001 | 0.00001 | 0.00002
v 7 J & A (CYAP) |0.003 [ <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v w  » (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 0.0003
Y 7 o ~ = o (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 7 m A A Z (DDVP) | 0.008 [ <0.00008 | <0.00008 | <0.00008 | <0.00008
2 Y % > | o0.005
P AN (2T LT F AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFFHANA—RFR I |0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005
D 7 *+ = | 0.009 | <0.00009 = <0.00009 @ <0.00009 | <0.00009
v oonmAk w7 7 F o |0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
v < ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ s v ]0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
5 e A = v 0.8 <0.008 <0.008 <0.008 <0.008
AN AB I (J1— 3 ) JY
0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001

AFNAYFF T F—HMITC)
¥ 7 D = v 0.1 <0.001 <0.001 <0.001 <0. 001
¥ v 4 A 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002




4. 8 ZEN EINEHRER (0DOF)

F F Y H o 7 0. 08 <0.0008 | <0.0008 | <0.0008 | <0.0008
FAET 7 F— AT 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF R o T 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
F 7 U o N U F v 0.002 | <0.00002 = <0.00002 | <0.00002 | <0.00002
F v 7 H 7 (MBPMC) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
YU 2 v ok > (DEP) 0.005 | <0.00005 = <0.0002 | <0.0002 | <0.00005
YUYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
- S B 0.06 | <0.0006 | <0.0006 = <0.0006 | <0.0006
> F o s I R 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
/3 7 = — 3 0. 005

1= ~ o + Z - 10.0009] <0.00003 |<0.000009 |<0.000009 | <0.00003
v 5 s u = 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
S S A A S 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7Y x—hMETSL—]) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
vy ¥ 7oy F A 0.002 | <0.00003 = <0.00002 | <0.00002 | <0.00003
SR S 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
= o * =t v 0. 05 <0.0004 | <0.0005 = <0.0005 | <0.0004
7 4 7 wm = A [0.0005[ 0.000009 | 0.000006  0.00019 | 0.000009
7 = = ko F F » (MEP) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = / 7 #H ) 7 (BPMO) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N2 0.05 | <0.0005 <0. 0005
7 = v F A& v (IPP) 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
7 = v bk = — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
7 v 2 + 2 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 v T Y F A 0.03 <0. 0003 <0. 0003
7 v F I r o — L 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w=m ¥ I K 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
7 wm  F & K R 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7 m v a3 ;Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v v ¥ I F 0.05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 ol R F Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v ® 7 F R 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J N V2 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
S = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001
A - 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
Ny Y 7 o2 F oy T 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v v N 0.2 <0. 002 <0. 002 <0. 002 <0. 002
Ny T 4 ARy 0.3 <0. 001 <0. 003 <0. 003 <0. 001
N v 7 T h T 0. 04 <0.0004 | <0.0004 = <0.0004 | <0.0004
RyTINT Y (RRr YY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L & — Fk 0.07 <0.0007 | <0.0007 = <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 | <0.00003 <0. 00003
~ T FAF L (~T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A a2 7w v 7 (MCPP) 0.05 | <0.00005 | <0.0005 = <0.0005 | <0.00005
A v 3 v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A X T X v )L 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
A F L KX A4 A v v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A ~MI A MrE VY 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004
A N U 7Y 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A 7 = F v h 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001
S Jj 5 — S 0.005 | <0.00005 = <0.00005 | <0.00005 | <0.00005
[ H ] 1 fiE 1 0. 04 0.01 0. 39 0. 05
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1. 4. 9 &Il BMAKEER
%t B 5 . B A i o3 K I ]

mg/L | 474118 | 5H16H | 64138 | 7H18H | 8H15H | 9H13H
1,3-Y7mmr~7ay(D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA (% T &K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008  <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 | <0.0002 | <0.0003 | <0.0002 = <0.0002 | <0.0003
E p N | 0.004 [<0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A ] 0.005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
7 v 2 > A 0.9 <0.002 | <0.009 | <0.009 = <0.002 = <0.009 | <0.009
7 & 7 = — K |0.006|<0.00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006 | <0.00006
7 k ¥ D v 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2| 0.003 [ <0.00003 | <0.00003 | <0.00003 | <0.00003 ' <0.00003 | <0.00003
7 N k = 2| 0.006 [ <0.00006 <0. 00006
7 7 7 m — J 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
4 v % # F 4 » |0.005]<0.00005 | <0.00005  <0.00005  <0.00005 | <0.00005 | <0.00005
4 Y 7 = v & A |[0.001[<0.00003  <0.00001 |<0.00001 |<0.00003 | <0.00001 ' <0.00001
4 Y 7 m H 7 (MPC) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 uF F 5 (P 0.3 <0.003 | <0.003 | <0.003 = <0.003 = <0.003 | <0.003
4 7 8 ~ v K % (IBP 0.09 | <0.0002 | <0.0009 | <0.0009 | <0.0002 = <0.0009 | <0.0009
4 2 s, v & ¥ v |0.006
4 v & 7 7 5 v [0.009 [<0.00009 | <0.00009  <0.00009 | <0.00009 | <0.00009 | <0.00009
= %2 7 v h A 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003  <0.0003 | <0.0003
7 (72 kA(TY 72V A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
EN A 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRYDTY — (A —n) | 0.004 [<0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7R TEY) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
R =R O 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
A R D) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
+ U ¥+ X F m E v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 =z +* xR 2 |0.0006 k0. 000006 <0.00001 K0. 000006 <0. 00001
B 7 = v A ko — s |0.008|<0.00008 | <0.00008 | <0.00008 | <0.00008 @ <0.00008 | <0.00008
7 v % > 7 0.3 <0.003 | <0.003 <0.003 | <0.003
o N U L (NAQ) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 <0.0005 | <0.0005
B o 7 w8 I R 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B A 7 F v ]0.005]<0.00005 | <0.00005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
¥ / 2 Z I ¥ (ACN) |0.005 |<0.00005 | <0.00005 | <0.0001 |<0.00005 | <0.00005  <0.0001
* ¥ 7 v v 0.3 <0.003 | <0.003 | <0.003 = <0.003 = <0.003 | <0.003
Y N L o v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003
7y &+ =k 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VR T S 0.02 | <0.0002 | <0.0002 <0.0002 | <0.0002
7 v A 7 v oy 7 0.02 | <0.0002 | <0.0002 <0.0002 | <0.0002
suma ) =hknr 7 = (CNP) |0.0001]<0.00003 | <0.00001 | <0.00006 | <0.00003 @ <0.00001 | <0.00006
7 @ A v U ik & |0.003]<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
7w wm # o = ) (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
D2 7 + D% > ] 0.001 | <0.00001 | <0.00001 | <0.00004 | <0.00001 | <0.00001 | <0.00004
v 7 7 & A (CYAP) |0.003 |<0.00003 |<0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
2 v m  » (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002  <0.0002 <0.0002
Y 7 w X = J (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
Y 7 v A AR =z (DDVP) | 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 @ <0.00008 | <0.00008
D s 1% > L | 0.005 <0. 00005 <0. 00005
D AJVR R (F L F A ARY) 0.004 | <0.00004 | <0.00004 | <0. 00004 | <0.00004 | <0.00004 | <0.00004
CFAFHNANA—FR I | 0.005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
D2 ¥ 7 5 s ] 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 ' <0.00009 | <0.00009
Yok oy 7 7 F 0 |0.006[<0.00006 | <0.00006 | <0.00006 | <0.00006 @ <0.00006 | <0.00006
v = ¥ v (CAD |0.003|<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
A K A b Y 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002
v A b = — k 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005  <0.0005 | <0.0005
D2 A b ) v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003  <0.0003 | <0.0003
£ 4 7 ¥ v ]0.003]<0.00003 | <0.00003 | <0.00003 | <0.00003 @ <0.00003 | <0.00003
% ~£ I = v 0.8 <0.008 | <0.008 | <0.008 = <0.008 = <0.008 | <0.008
2 AN AB I (J1—3 ) JY

0.01 <0. 0001 <0. 0001 <0. 0001 <0. 0001
AFNAYF AT F—FMITC)
v 7 D2 = v 0.1 <0.001 <0.001 <0. 001 <0.001 <0.001 <0. 001
F 7 7 2 0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002




4. 9 &I HWAXEBEER (0DF)
F * Y A oA T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FA T 7 Fx— b AFN 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
F F R v oHm T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U A b U F > ]0.002[<0.00002 = 0.00029 0. 00008 | <0. 00002
F v 7 H A 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Uz = ¥ L |0.006 ]|<0.00006 <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
Y 7 o ok v (DEP) 0.005 [ <0.00005 | <0.0002 | <0.0003 | <0.00005 | <0.0002 | <0.0003
YUYy T Y = 0.1 | <0.0008 <0. 001 <0.001 | <0.0008 <0. 001 <0. 001
[ A ) B 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
¥+ 7 w < I K 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 B — 3 0. 005
= ~2 = + 2 [0.0009] <0.00003 <0.000009 | <0.00003 | <0.00003 KO.000009 | <0.00003
¥ 5 s B = 0.01 | <0.0001 | <0.0001 <0.0001 | <0.0001
¥ Y % ¥ 7 = ¥ [0.004[<0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
EIV IR —h(ETY L —}h) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y ¥ 7 o= v F 4 > [0.002]<0.00003  <0.00002 | <0.00002 | <0.00003 | <0.00002 | <0.00002
vy 7 F o v T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= o * = v 0.05 | <0.0004 = <0.0005 | <0.0005 | <0.0004 | <0.0005 | <0.0005
7 4+ 7 m = s [0.0005k0.000005 <0.000005 <0.000005 K0.000005 KO.000005 <0.000005
7 = = kua F 4 » (MEP) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = /) 7 4 A 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 = U A Y v 0.05 | <0.0005 <0. 0005
7 = ¥ F A& v (PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v k = — | (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0. 00007
7 = ¥ b 7 ¥ I F 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A F 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
7 X J m — 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 4 3 R 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 m 7 oz ¥V v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
R A 0.03 | <0.0003 <0. 0003
7 v F I s v — b 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ I K v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm F F & R 0.004 [ <0.00004 | <0.00004 <0.00004 | <0. 00004
7 m ¥ oa F v — 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m ¥ ¥ I F 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
=T 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = 7 F K 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ J 3 v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v vy oy oowm v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
Ny Vv Yy o v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~ v v 7 = F v 7 ]0.005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o AR v 0.3 <0. 001 <0.003 <0.003 <0. 001 <0.003 <0. 003
A R 2 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTNF Yo (RABYY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
~ v 7 L ok — b 0.07 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
m o2 F T OB — b 0.003 | <0.00003 <0.0001 | <0. 00003 <0.0001
~5FF (=T V) 0.7 | <0.0005 <0. 007 <0.007 | <0.0005 <0. 007 <0. 007
A =@ 7w v 7 (MCPP) 0.05 [<0.00005 | <0.0005 & <0.0005 | <0.00005 | <0.0005 | <0.0005
A M 3 v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A F T F v b 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F K F A4 > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00008 | <0.00004 | <0.00004 | <0.00008
A F L H A4 L oa v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A M3I ) A FnrEV 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A b VT Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F kB v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 o = N 0.1 <0.001 <0.001 <0. 001 <0.001 <0.001 <0.001
S ] ki — b 0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H 5 = [ 1 <0.01 0.15 <0.01 0. 04 <0.01 <0.01
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4. 10 EIl BMAKEBEER

=% B T H %A £ K A H

mg/L | 47118 | 5A16H | 67130 | 7THI8H | 8A15H | 9713H
1,3-Y7un7na -~y (D-D) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
2,2-DPA (¥ Z K& v ) 0.08 [ <0.0008 | <0.0008 | <0.0008 & <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 [ <0.0002 | <0.0002 | <0.0003 | <0.0002 | <0.0002 | <0.0003
E P N 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 > E 7 2 0.9 <0. 002 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 vt 7 = = k 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
7 S 7 D4 N 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
7 = =t * 2 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 2 ~ 7 zx 0. 006 | <0. 00006 <0. 00006
7 5 rJ m - ) 0.03 [ <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
4 Y % ¥ F A v 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
4 YV 7 = v K A 0. 001 |<0.00003 | <0.00001 | <0.00001 | <0.00003 | <0.00001 | <0.00001
A4 Y 7 ua B 7 (MIPC) 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
A4 Y 7 uaF 4 7 v JAPT) 0.3 <0.003 <0.003 <0. 003 <0.003 <0. 003 <0. 003
A4 7 v X v &k A (BP 0.09 | <0.0002 | <0.0009 | <0.0009 | <0.0002 | <0.0009 = <0.0009
A4 2 J v K U v 0. 006
A4 v B ) T 7 v 0. 009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= 2 F u B N 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
7 Y72/ RA(TY T2 KA, EDDP) 0. 006 | <0. 00006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
T N7 v Sy s R 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008  <0.0008
TR T Y — (T ra A — L) 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
TURALT (R T Y) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
R/ = B 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
+ U X K m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Ve =z V2 N Z 0. 0006 K0. 000006 <0.00001 <0. 000006 <0. 00001
H 7 oz v A nr — L 0. 008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
Ve L v v 7 0.3 <0.003 <0.003 <0.003 <0.003
B v % U L (NAC) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
hov 7 om0 R 0.04 [ <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004
b/ S A 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /7 7 7 I v (ACN) 0. 005 | <0.00005 | <0. 00005 | <0.0001 | <0.00005 | <0.00005 | <0.0001
x ¥ 7 P N 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
7 2 L =t v 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
7 U K ¥ — 2 0. 02 0. 02 0. 02 0. 02 0. 02 0. 02
VAN A S 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
7w X 7 v oy 7 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
sm ) =hknw 7 = (CNP) [0.0001[<0.00003 |<0.00001 |<0.00006 | <0.00003 | <0.00001 |<0.00006
7 o|m g EF U ok R 0. 003 | <0.00003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ v uw % o = /L (TPN) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v 7 A v N 0.001 |<0.00001 | <0.00001 |<0.00004 | <0.00001 |<0.00001 | <0.00004
v 7 7 & A (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v o > (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002  <0.0002
v 7 m < = L (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 = <0.0003
Y 7 v ) AR Z (DDVP) 0. 008 | <0. 00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
D4 7 v v k 0. 005 <0. 00005 <0. 00005
VALK AT VT F AR 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
CFF AN A — R K 0. 005 | <0.00005 | <0.00005 <0.00005 | <0.00005
D4 F 7 = Jb 0. 009 | <0.00009 | <0.00009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009
ok y ST F 0. 006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
v = Y v (CAD 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA ¥ X b U v 0.02 [ <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
Y A b = = 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
D2 A k U N 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
A Y A Y A 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A A =t v 0.8 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
B AR AR (I =3 15) B

0.01 [ <0.0001 | <0.0001 <0.0001 | <0.0001
AFNAYF AT F—hMITC)
¥ 7 D = I 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
7 v 7 2 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002




4. 10 EN WAKXEBEGR (00F)
F *+ ¥ o A T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FA T 7 Fx— b AFN 0.3 <0.003 | <0.003 = <0.003 | <0.003 | <0.003 | <0.003
F F R v oHm T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
> 7 U A ~ U F > ]0.002[<0.00002 | 0.00018 0.00009 | <0. 00002
F L 7 H s 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Uz = ¥ L |0.006 ]|<0.00006 <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
KU 2 o sk v (DEP) 0.005 [ <0.00005 | <0.0002 | <0.0003 | <0.00005 | <0.0002 | <0.0003
Y Y5 Y — 0.1 | <0.0008 | <0.001 <0.001 | <0.0008 | <0.001 <0. 001
[ A ) B 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
>+ 7 v < 3 F 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 B — 3 0. 005
= ~2 = R 2 [0.0009] <0.00003 <0.000009 | <0.00003 | <0.00003 KO.000009 | <0.00003
¥ 5 s o = )L 0.01 | <0.0001 | <0.0001 <0.0001 | <0.0001
¥ Y % ¥ 7 = ¥ [0.004[<0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
EIV IR —h(ETY L —}h) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y ¥ 7 o= v F 4 > [0.002]<0.00003  <0.00002 | <0.00002 | <0.00003 | <0.00002 | <0.00002
vy 7 F o v T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= o * o v 0.05 | <0.0004 = <0.0005 | <0.0005 | <0.0004 | <0.0005 | <0.0005
7 4+ 7 m = s [0.0005k0.000005 <0.000005 <0.000005 K0.000005 KO.000005 <0.000005
7 = = k1 F 4 » (MEP) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 # 2 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A N Y 0.05 | <0.0005 <0. 0005
7 = ¥ F A& v (PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v k = — | (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0. 00007
7 = ¥ b 5 B I F 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 { F 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
7 % 7 . - 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 4 3 R 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
R A 0.03 | <0.0003 <0. 0003
7 v F 5 v — 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ I K v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm F F & R 0.004 [ <0.00004 | <0.00004 <0.00004 | <0. 00004
7 m v a F v — 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m ¥ ¥ I F 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
=T 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = 7 F K 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ J 2 v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v vy oy oowm v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
Ny Y v v s oa v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~ v Y 7 o= F v 7 0,005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
L F 4 A B Y 0.3 <0. 001 <0.003 <0.003 <0. 001 <0.003 <0. 003
N v 75 o T 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
NRyTAF Y (RAB YY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
~ v 7 L ok — b 0.07 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
F 2 F 7 ¥ — k 0.003 | <0.00003 <0.0001 | <0. 00003 <0.0001
~5FF (=T V) 0.7 | <0.0005 = <0.007 | <0.007 | <0.0005 | <0.007 | <0.007
A =@ 7w v 7 (MCPP) 0.05 [<0.00005 | <0.0005 & <0.0005 | <0.00005 | <0.0005 | <0.0005
A Y 3 v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A X 5 X ¥ 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F K F A4 > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00008 | <0.00004 | <0.00004 | <0.00008
A F L H A4 L oa v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A KNI /) A b v 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A b VT Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F k& v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 = = v 0.1 <0.001 <0.001 <0. 001 <0.001 <0.001 <0.001
S ] ES — ~ 0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H E = [ 1 <0.01 0. 09 <0.01 0. 04 <0.01 <0.01
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4. 11 PN ENERER

= 5 ® . SR

mg/L | 5H16H 7H18H 9H13H 3H13H
1,3-Y27nun 7 ay(D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2DPA (% 7 K ¥ ) 0.08 | <0.0008 = <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
E p N | 0.004 [ <0.00004 | <0.00004 | <0.00004 | <0.00004
M C p A ] 0.005 | <0.00005 | <0.00005 @ <0.00005 | <0.00005
7 v 2 5 N 0.9 <0. 002 <0. 009 <0.009 <0. 002
7 k& 7 = — b+ ]0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
7 k 5 v v 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001
7 = o R 2] 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 3 b 5 2 0.006 | <0.00006 <0. 00006
7 5 J v — J 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
4 v % % F F > |[0.005] <0.00005 = <0.00005 | <0.00005 | <0.00005
4 v 7 = v & A [0.001] <0.00003 & <0.00001 | <0.00001 | <0.00003
A4 Y 7 u H N 7 (MPC) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001
A4 Y FaF F T v IPD 0.3 <0.003 <0.003 <0.003 <0.003
4 7 v <X ¥ ik % (BP) 0.09 | <0.0002 = <0.0009 | <0.0009 | <0.0002
4 3 2 v x ¥ »r |[0.006
4 v % 7 7 7 > [0.009] <0.00009 = <0.00009 | <0.00009 | <0.00009
= 2 F wu H L 7 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
747V RA(TY 72k A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
E N A - AR 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICT Y — i (=ra A —L) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7 (R TEY) 0.01 <0.0001 | <0.0001 = <0.0001 | <0.0001
E i A =R A 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
+ U ¥+ z2 h m B v 0.1 <0.001 <0.001 <0.001 <0.001
7 =z i N 2 |0.0006|<0. 000006 <0. 000006
f 7 = v A b — s |0.008 | <0.00008 @ <0.00008 | <0.00008 | <0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003
J v N U L (NAC) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
o 7 om NI F 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B AR 7 F > ]0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
¥ , 2/ 2 I v (ACN) |0.005 | <0.00005 @ <0.00005 | <0.00005 | <0.00005
* ¥ 7 2 v 0.3 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
VA A X 2 <0. 02 <0.02 <0.02 <0.02
J v & ¥ F*x — |k 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
7 om A 7 ow oy 7 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
sm)=hkm 7= (CNP) |0.0001| <0.00003 @ <0.00001 | <0.00001 | <0.00003
7 m g ¥ U &k A |0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
7 mowu # 1 = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + D > [ o0.001| <0.00001 | <0.00001 | <0.00001 | <0.00001
v 7 J & A (CYAP) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v w  » (DCMU) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
Y 7 o ~ = o (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001
Y 7 m A A Z (DDVP) | 0.008 [ <0.00008 | <0.00008 | <0.00008 | <0.00008
2 Y % > L | o0.005
P ANV (2T LT F AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
CFFHANA—RFR I |0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005
D 7 *+ = | 0.009 | <0.00009 = <0.00009 @ <0.00009 | <0.00009
v oonmAk w7 7 F o |0.006 | <0.00006 @ <0.00006 | <0.00006 | <0.00006
v < ¥ v (CAT) |0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 = <0.0003 | <0.0003 | <0.0003
2 4 7 ¥ s v ]0.003| <0.00003 | <0.00003 | <0.00003 | <0.00003
5 e A = v 0.8 <0.008 <0.008 <0.008 <0.008
B AR AL (T —30) J Y
0.01 <0.0001 | <0.0001 | <0.0001 0. 0001

AFNAYFF T F—HMITC)
¥ 7 v = I 0.1 <0.001 <0. 001 <0. 001 <0. 001
F v 7 N 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002




4. 11 ¥ ENERER (0DF)

F F Y H o 7 0. 08 <0.0008 | <0.0008 | <0.0008 | <0.0008
FAET 7 F— AT 0.3 <0. 003 <0. 003 <0. 003 <0. 003
F oF R o T 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
F 7 U o N U F v 0.002 | <0.00002 = <0.00002 | <0.00002 | <0.00002
F v 7 H 7 (MBPMC) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
YU 2 v ok > (DEP) 0.005 | <0.00005 = <0.0002 | <0.0002 | <0.00005
YUYy T Y = 0.1 <0. 0008 <0. 001 <0.001 | <0.0008
- S B 0.06 | <0.0006 | <0.0006 = <0.0006 | <0.0006
> F o s I R 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
/3 7 = — 3 0. 005

1= ~ o + Z - 10.0009] <0.00003 |<0.000009 |<0.000009 | <0.00003
v 5 s u = 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
S S A A S 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7Y x—hMETSL—]) 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
vy ¥ 7oy F A 0.002 | <0.00003 = <0.00002 | <0.00002 | <0.00003
SR S 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
= o * =t v 0. 05 <0.0004 | <0.0005 = <0.0005 | <0.0004
7 4 7 wm = 2 [0.0005[<0.000005 <0.000005 <0.000005 |<0.000005
7 = = ko F F » (MEP) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = / 7 #H ) 7 (BPMO) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A VN N2 0.05 | <0.0005 <0. 0005
7 = v F A& v (IPP) 0.006 | <0.00006 = <0.00006 | <0.00006 | <0.00006
7 = v bk = — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I F 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 A N 0.1 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
7 v 2 + 2 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 7 v 7 oz ¥ v 0. 02 <0.0002 | <€0.0002 = <0.0002 | <0.0002
7 v T Y F A 0.03 <0. 0003 <0. 0003
7 v F I r o — L 0. 05 <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w=m ¥ I K 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
7 wm  F & K R 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
7 m v a3 ;Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v v ¥ I F 0.05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 ol R F Y — 0. 05 <0.0005 | <0.0005 = <0.0005 | <0.0005
7 v ® 7 F R 0.1 <0. 001 <0. 001 <0. 001 <0. 001
~ J N V2 0.02 <0.0002 | <0.0002 = <0.0002 | <0.0002
S = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001
A - 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009
Ny Y 7 o2 F oy T 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
~ v v v N 0.2 <0. 002 <0. 002 <0. 002 <0. 002
Ny T 4 ARy 0.3 <0. 001 <0. 003 <0. 003 <0. 001
N v 7 T h T 0. 04 <0.0004 | <0.0004 = <0.0004 | <0.0004
RyTINT Y (RRr YY) 0.01 <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L & — Fk 0.07 <0.0007 | <0.0007 = <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 | <0.00003 <0. 00003
~ T FAF L (~T V) 0.7 <0. 0005 <0. 007 <0.007 | <0.0005
A a2 7w v 7 (MCPP) 0.05 | <0.00005 | <0.0005 = <0.0005 | <0.00005
A v 3 v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A X T X v )L 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 = <0.00004 | <0.00004 | <0.00004
A F L KX A4 A v v 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A ~MI A MrE VY 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004
A N U 7Y 0.03 <0.0003 | <0.0003 = <0.0003 | <0.0003
A 7 = F v h 0. 02 <0.0002 | <0.0002 = <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001
S Jj 5 — S 0.005 | <0.00005 = <0.00005 | <0.00005 | <0.00005
[ H ] 1 [ 1 <0.01 <0.01 <0.01 0.01

=

R30I, RS R IRY AMB R IR 18T H O 11558 H 2 |IE L7z,

2. BHERER IR, 18~ OD?ﬁmﬁﬂjﬁ%%@ BB CERLIEOMRFI THD,

3. RPOBYHOSLES

TRENBR SN ZEE R T,




4. 12 EI BREXBER

=% B T H %A £ K A H

mg/L | 47118 | 5A16H | 67130 | 7THI8H | 8A15H | 9713H
1,3-Y7un7na -~y (D-D) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
2,2-DPA (¥ Z K& v ) 0.08 [ <0.0008 | <0.0008 | <0.0008 & <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 [ <0.0002 | <0.0002 | <0.0003 | <0.0002 | <0.0002 | <0.0003
E P N 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 > E 7 2 0.9 <0. 002 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 vt 7 = = k 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
7 S 7 D4 N 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
7 = =t * 2 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 2 ~ 7 zx 0. 006 | <0. 00006 <0. 00006
7 5 rJ m - ) 0.03 [ <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
4 Y % ¥ F A v 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
4 YV 7 = v K A 0. 001 |<0.00003 | <0.00001 | <0.00001 | <0.00003 | <0.00001 | <0.00001
A4 Y 7 ua B 7 (MIPC) 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
A4 Y 7 uaF 4 7 v JAPT) 0.3 <0.003 <0.003 <0. 003 <0.003 <0. 003 <0. 003
A4 7 v X v &k A (BP 0.09 | <0.0002 | <0.0009 | <0.0009 | <0.0002 | <0.0009 = <0.0009
A4 2 J v K U v 0. 006
A4 v B ) T 7 v 0. 009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= 2 F u B N 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
7 Y72/ RA(TY T2 KA, EDDP) 0. 006 | <0. 00006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
T N7 v Sy s R 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008  <0.0008
TR T Y — (T ra A — L) 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
TURALT (R T Y) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
R/ = B 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
+ U X K m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Ve =z V2 N Z 0. 0006 K0. 000006 <0.00001 <0. 000006 <0. 00001
H 7 oz v A nr — L 0. 008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
Ve L v v 7 0.3 <0.003 <0.003 <0.003 <0.003
B v % U L (NAC) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
hov 7 om0 R 0.04 [ <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004
b/ S A 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /7 7 7 I v (ACN) 0. 005 | <0.00005 | <0. 00005 | <0.0001 | <0.00005 | <0.00005 | <0.0001
x ¥ 7 P N 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
7 2 L =t v 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
7 U K ¥ — 2 0. 02 0. 02 0. 02 0. 02 0. 02 0. 02
VAN A S 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
7w X 7 v oy 7 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
sm ) =hknw 7 = (CNP) [0.0001[<0.00003 |<0.00001 |<0.00006 | <0.00003 | <0.00001 |<0.00006
7 o|m g EF U ok R 0. 003 | <0.00003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ v uw % o = /L (TPN) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v 7 A v N 0.001 |<0.00001 | <0.00001 |<0.00004 | <0.00001 |<0.00001 | <0.00004
v 7 7 & A (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v o > (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002  <0.0002
v 7 m < = L (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 = <0.0003
Y 7 v ) AR Z (DDVP) 0. 008 | <0. 00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
D4 7 v v k 0. 005 <0. 00005 <0. 00005
VALK AT VT F AR 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
CFF AN A — R K 0. 005 | <0.00005 | <0.00005 <0.00005 | <0.00005
D4 F 7 = Jb 0. 009 | <0.00009 | <0.00009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009
ok y ST F 0. 006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
v = Y v (CAD 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA ¥ X b U v 0.02 [ <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
Y A b = = 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
D2 A k U N 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
A Y A Y A 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A A =t v 0.8 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
B AR AR (I =3 15) B

0.01 [ <0.0001 | <0.0001 <0.0001 | <0.0001
AFNAYF AT F—hMITC)
¥ 7 D = I 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
7 v 7 2 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002




4. 12 EN BRAKXEBER (00F)
F *+ ¥ o A T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FA T 7 Fx— b AFN 0.3 <0.003 | <0.003 = <0.003 | <0.003 | <0.003 | <0.003
F F X v h AT 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
> 7 U A ~ U F > ]0.002[<0.00002 | 0.00028 0.00009 | 0.00005
F L 7 H s 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Uz = ¥ L |0.006 ]|<0.00006 <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
KU 2 o sk v (DEP) 0.005 [ <0.00005 | <0.0002 | <0.0003 | <0.00005 | <0.0002 | <0.0003
Y Y5 Y — 0.1 | <0.0008 | <0.001 <0.001 | <0.0008 | <0.001 <0. 001
Y7o F Y 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
>+ 7 v < 3 F 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 B — 3 0. 005
= ~2 o R 2 [0.0009] <0.00003 <0.000009 | <0.00003 | <0.00003 KO.000009 | <0.00003
¥ 5 s o = )L 0.01 | <0.0001 | <0.0001 <0.0001 | <0.0001
¥ Y % ¥ 7 = ¥ [0.004[<0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
EIVUR—RETYL—]) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y ¥ 7 o= v F 4 > [0.002]<0.00003  <0.00002 | <0.00002 | <0.00003 | <0.00002 | <0.00002
vy 7 F o v T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= o * o v 0.05 | <0.0004 = <0.0005 | <0.0005 | <0.0004 | <0.0005 | <0.0005
7 4+ 7 m = s [0.0005k0.000005 <0.000005 <0.000005 K0.000005 KO.000005 <0.000005
7 = = k1 F 4 » (MEP) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 # 2 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A N Y 0.05 | <0.0005 <0. 0005
7 = ¥ F A& v (PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v k= — |k (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0. 00007
7 = ¥ b 5 B I F 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 5 { F 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
7 % 7 . - 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 % 3 R 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
R A 0.03 | <0.0003 <0. 0003
7 v F 5 v — 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ I K v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm F F & R 0.004 [ <0.00004 | <0.00004 <0.00004 | <0. 00004
7 m v a F v — 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m ¥ ¥ I F 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
=T 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = 7 F K 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ J 2 v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v vy oy oowm v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
Ny Y v v s oa v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~ v Y 7 o= F v 7 0,005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
L F 4 A B Y 0.3 <0. 001 <0.003 <0.003 <0. 001 <0.003 <0. 003
N v 75 o T 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
NRyTAF Y (RAB YY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
~ v 7 L ok — b 0.07 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
F 2 F 7 ¥ — k 0.003 | <0.00003 <0.0001 | <0. 00003 <0.0001
~FFFr(~F V) 0.7 | <0.0005 = <0.007 | <0.007 | <0.0005 | <0.007 | <0.007
A @ 7 m vy 7 (CPP) 0.05 [<0.00005 | <0.0005 & <0.0005 | <0.00005 | <0.0005 | <0.0005
A Y 3 v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A X 5 X ¥ 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F K F A4 > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00008 | <0.00004 | <0.00004 | <0.00008
A F L H A4 L oa v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A KNI /) A b v 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A~ V7 U v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F k& v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 = = v 0.1 <0.001 <0.001 <0. 001 <0.001 <0.001 <0.001
S ] ES — ~ 0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H E = [ 1 <0.01 0. 14 <0.01 0. 04 0.03 <0.01
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4. 13 EIl BfRXEER

=% B T H %A £ K A H

mg/L | 47118 | 5A16H | 67130 | 7THI8H | 8A15H | 9713H
1,3-Y7un7na -~y (D-D) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
2,2-DPA (¥ Z K& v ) 0.08 [ <0.0008 | <0.0008 | <0.0008 & <0.0008 | <0.0008 | <0.0008
2,4-D ( 2,4-PA ) 0.02 [ <0.0002 | <0.0002 | <0.0003 | <0.0002 | <0.0002 | <0.0003
E P N 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
M C P A 0. 005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 > E 7 2 0.9 <0. 002 <0. 009 <0. 009 <0. 002 <0. 009 <0. 009
7 vt 7 = = k 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
7 S 7 D4 N 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
7 = =t * 2 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
7 2 ~ 7 zx 0. 006 | <0. 00006 <0. 00006
7 5 rJ m - ) 0.03 [ <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 | <0.0003
4 Y % ¥ F A v 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
4 YV 7 = v K A 0. 001 |<0.00003 | <0.00001 | <0.00001 | <0.00003 | <0.00001 | <0.00001
A4 Y 7 ua B 7 (MIPC) 0.01 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
A4 Y 7 uaF 4 7 v JAPT) 0.3 <0.003 <0.003 <0. 003 <0.003 <0. 003 <0. 003
A4 7 v X v &k A (BP 0.09 | <0.0002 | <0.0009 | <0.0009 | <0.0002 | <0.0009 = <0.0009
A4 2 J v K U v 0. 006
A4 v B ) T 7 v 0. 009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
= 2 F u B N 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 = <0.0003
7 Y72/ RA(TY T2 KA, EDDP) 0. 006 | <0. 00006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006
T N7 v Sy s R 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008  <0.0008
TR T Y — (T ra A — L) 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
TURALT (R T Y) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001
R/ = B 0.02 | <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
+ U X K m B v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
Ve =z V2 N Z 0. 0006 K0. 000006 <0.00001 <0. 000006 <0. 00001
H 7 oz v A nr — L 0. 008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
Ve L v v 7 0.3 <0.003 <0.003 <0.003 <0.003
B v % U L (NAC) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
hov 7 om0 R 0.04 [ <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004
b/ S A 0. 005 | <0.00005 | <0. 00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ /7 7 7 I v (ACN) 0. 005 | <0.00005 | <0. 00005 | <0.0001 | <0.00005 | <0.00005 | <0.0001
x ¥ 7 P N 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
7 2 L =t v 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
7 U K ¥ — 2 0. 02 0. 02 0. 02 0. 02 0. 02 0. 02
VAN A S 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
7w X 7 v oy 7 0.02 [ <0.0002 | <0.0002 <0.0002 | <0.0002
sm ) =hknw 7 = (CNP) [0.0001[<0.00003 |<0.00001 |<0.00006 | <0.00003 | <0.00001 |<0.00006
7 o|m g EF U ok R 0. 003 | <0.00003 | <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003
s/ v uw % o = /L (TPN) 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
v 7 A v N 0.001 |<0.00001 | <0.00001 |<0.00004 | <0.00001 |<0.00001 | <0.00004
v 7 7 & A (CYAP) 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v o > (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002  <0.0002
v 7 m < = L (DBN) 0.03 | <0.0001 | <0.0003 | <0.0003 | <0.0001 | <0.0003 = <0.0003
Y 7 v ) AR Z (DDVP) 0. 008 | <0. 00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
D4 7 v v k 0. 005 <0. 00005 <0. 00005
VALK AT VT F AR 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004 | <0.00004
CFF AN A — R K 0. 005 | <0.00005 | <0.00005 <0.00005 | <0.00005
D4 F 7 = Jb 0. 009 | <0.00009 | <0.00009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009
ok y ST F 0. 006 | <0.00006 | <0. 00006 | <0.00006 | <0.00006 |<0.00006 | <0.00006
v = Y v (CAD 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA ¥ X b U v 0.02 [ <0.0002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002
Y A b = = 0.05 [ <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
D2 A k U N 0.03 [ <0.0003 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003
A Y A Y A 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v A A =t v 0.8 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
B AR AR (I =3 15) B

0.01 [ <0.0001 | <0.0001 <0.0001 | <0.0001
AFNAYF AT F—hMITC)
¥ 7 D = I 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
7 v 7 2 0.02 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002




4. 13 EN BRAXEER (00F)
F *+ ¥ o A T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FA T 7 Fx— b AFN 0.3 <0.003 | <0.003 = <0.003 | <0.003 | <0.003 | <0.003
F F R v oHm T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
> 7 U A ~ U F > ]0.002[<0.00002 | 0.00014 0.00008 | 0.00006
F L 7 H s 7 (MBPMC) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Uz = ¥ L |0.006 ]|<0.00006 <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
KU 2 o sk v (DEP) 0.005 [ <0.00005 | <0.0002 | <0.0003 | <0.00005 | <0.0002 | <0.0003
Y Y5 Y — 0.1 | <0.0008 | <0.001 <0.001 | <0.0008 | <0.001 <0. 001
[ A ) B 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
>+ 7 v < 3 F 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 B — 3 0. 005
= ~2 = R 2 [0.0009] <0.00003 <0.000009 | <0.00003 | <0.00003 KO.000009 | <0.00003
¥ 5 s o = )L 0.01 | <0.0001 | <0.0001 <0.0001 | <0.0001
¥ Y % ¥ 7 = ¥ [0.004[<0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
EIV IR —h(ETY L —}h) 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y ¥ 7 o= v F 4 > [0.002]<0.00003  <0.00002 | <0.00002 | <0.00003 | <0.00002 | <0.00002
vy 7 F o v T 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
= o * o v 0.05 | <0.0004 = <0.0005 | <0.0005 | <0.0004 | <0.0005 | <0.0005
7 4+ 7 m = s [0.0005k0.000005 <0.000005 <0.000005 K0.000005 KO.000005 <0.000005
7 = = k1 F 4 » (MEP) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = J 7 # 2 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A N Y 0.05 | <0.0005 <0. 0005
7 = ¥ F A& v (PP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 = v k = — | (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0. 00007
7 = ¥ b 5 B I F 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 v 7 { F 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
7 % 7 . - 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 4 3 R 2 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
R A 0.03 | <0.0003 <0. 0003
7 v F 5 v — 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ I K v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm F F & R 0.004 [ <0.00004 | <0.00004 <0.00004 | <0. 00004
7 m v a F v — 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m ¥ ¥ I F 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
=T 0.05 | <0.0005 & <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = 7 F K 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
~ J 2 v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v vy oy oowm v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
Ny Y v v s oa v 0.09 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~ v Y 7 o= F v 7 0,005 [<0.00005 | <0.00005 <0.00005 | <0. 00005
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
L F 4 A B Y 0.3 <0. 001 <0.003 <0.003 <0. 001 <0.003 <0. 003
N v 75 o T 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
NRyTAF Y (RAB YY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
~ v 7 L ok — b 0.07 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007
F 2 F 7 ¥ — k 0.003 | <0.00003 <0.0001 | <0. 00003 <0.0001
~5FF (=T V) 0.7 | <0.0005 = <0.007 | <0.007 | <0.0005 | <0.007 | <0.007
A =@ 7w v 7 (MCPP) 0.05 [<0.00005 | <0.0005 & <0.0005 | <0.00005 | <0.0005 | <0.0005
A Y 3 v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A X 5 X ¥ 0.06 | <0.0006 = <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F K F A4 > (DMIP) 0.004 | <0.00004 | <0.00004 | <0.00008 | <0.00004 | <0.00004 | <0.00008
A F L H A4 L oa v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A KNI /) A b v 0.04 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A b VT Y 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F k& v b 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 = = v 0.1 <0.001 <0.001 <0. 001 <0.001 <0.001 <0.001
S ] ES — ~ 0.005 [ <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H E = [ 1 <0.01 0. 07 <0.01 0. 04 0.03 <0.01
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1.5 FXRFTHK

B ok B A KB R A 2 — RAKEREE R A2 — BPKBR R 2 & — HrEbE X AT
LR T A LI BRI WNIER] e NI WNERT]

A OB o A B || &om S Yy (EE & B K | EE| R B K R

kS i c 4 33.4 8.5 198 4 34.0 12.0 206 | 4 31.9 13.0 21.5
K i C 4 24.8 18.0 216 4 27.3 17.6 228 4 25.2 17.2 21.1
PN 115 MPN/100mL| 4 9300 930 3700 | 4| 43000 930 12000 [ 4 9300 930 4200
ARIV ALK BZOAE D meg/L 4| <0.0003 | <0.0003 | <0.0003 | 4 [ <0.0003 | <0.0003 | <0.0003 | 4 | <0.0003 | <0.0003 | <0.0003
K Kk O E O A B mg/lL 4 [<0.00005 |<0.00005 [<0.00005 | 4 [<0.00005 |<0.00005 [<0.00005 4 <0.00005 |<0.00005 [<0.00005
L v kO™ E O E W mg/lL 4 <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001| <0.001
) K O F o bt A& | meg/L 4| <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001| <0.001
EE K QXZ oA B mg/L 4 0.0009 [ 0.0006 | 0.0008| 4| 0.0012| 0.0009 | 0.0011| 4| 0.0036| 0.0029| 0.0031
KoMl 7 2 A b A ¥ mg/L 4| <0.005| <0.005| <0.005| 4| <0.005| <0.005| <0.005| 4] <0.005| <0.005| <0.005
ffioofg B B = F| mg/L 4 0.008 | <0.004 | <0.004 [ 4 0.012 0.004 0.008 4 0.013 | <0.004 0.007
o7 et ROMAs 7| mg/L 4] <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001| 4 0.001 | <0.001 | <0.001
7 v #F K R®ZET O A W mg/L 4 0.09 0.07 0.08| 4 0.10 0.07 0.08| 4 0.14 0.10 0.12
T E K OE O A W mg/L 4 0.06 0.05 0.05 | 4 0.06 0.04 0.05| 4 0.06 0.05 0.05
e} e 4 R #| mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
4- ¥ 4 ¥ | mg/L 2| €0.0005 | <0.0005 | <0.0005 | 2 | <0.0005 | <0.0005 | <0.0005 | 2| <0.0005 | <0.0005 | <0.0005
B '{;;15:1/;3;:;3; ;559 mg/L 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004
Y 7 m v A % | mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
FhZ 7 vu=xJF L mgl 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| 0.0003 | <0.0001 [ 0.0002
YU 7 v e = F L o> mgl 2| <0.0003 | <0.0003 | <0.0003 | 2 [ <0.0003 | <0.0003 | <0.0003 | 2| <0.0003 | <0.0003 | <0.0003
~ v + >| mg/L 2| <0.001 | <0.001 | <0.001| 2| <0.001| <0.001| <0.001 | 2| <0.001| <0.001| <0.001
g # izl mg/L 4 0.002 0.001 0.001 | 4 0.001 | <0.001 [ <0.001| 4 0.001 | <0.001 | <0.001
o K& O % o b A& W mg/L 4 <0.1 <0.1 0.1 4 <0.1 <0.1 0.1 4 <0.1 <0.1 <0.1
g Kk O % O bt & #| mg/L 4 0.05 0.04 0.04 | 4 0.07 0.04 0.06 | 4 0.05 €0.03 0.03
i Kk ™ F o A W me/L 4 <€0.1 <€0.1 0.1 4 <0.1 <0.1 0.1 4 <0.1 <0.1 <0.1
<~ H Rk OBZE O E W meg/L 4 0.027 0.013 0.020 | 4 0.022 0.010 0.014 | 4 0.050 0.012 0.029
gl 1 ¥ 4 A | mg/L 4 102 69 85| 4 82 54 66| 4 50 42 45
= A4 A4 v Rom i§ P Al me/L 2 €0.02 €0.02 €0.02 | 2 €0.02 €0.02 €0.02| 2 <€0.02 <€0.02 <€0.02
A4 A v Fom & M Al mg/L 2| <0.005 | <0.005| <0.005| 2 0.006 0.006 0.006 | 2 0.007 | <0.005 | <0.005
7 = 7 — A | mg/L 2| <0.0005 | <0.0005 | <0.0005 | 2 [ <0.0005 | <0.0005 | <0.0005 | 2| <0.0005 | <0.0005 | <0.0005
AW (2R F#E(TOC) D )| mg/L 4 4.7 3.2 3.8 4 5.7 4.7 52| 4 4.1 3.6 3.9
pH fiEl 4 6.9 6.8 6.8 4 7.4 7.0 72| 4 7.1 6.9 7.0
B £ 4 59 K& [ 4 5 FKE [ 4 55 Tk &
) 3 i3 4 24 16 21| 4 20 14 19| 4 10 4 8
%) iy B 4 2.0 1.0 1.6 4 2.5 0.5 1.6 4 1.5 0.5 1.0
" TryFEUVROZDOE W mg/L 4] 0.00027 | 0.00025 | 0.00026 | 4 | 0.00224 | 0.00075 | 0.00152 | 4 | 0.00036 | 0.00031 | 0.00034
BmlY 7 v kX o d B mg/L 4| <0.0001 | <0.0001 | <0.0001 | 4 [ <0.0001 | <0.0001 | <0.0001 | 4 | <0.0001 | <0.0001 | <0.0001
=y v kO ZE O E W me/L 4 0.006 0.002 0.004 | 4 0.005 0.003 0.004 | 4 0.002 0.001 0.002
oo v 7 v v = % o mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
E’i k v - >| mg/L 2| <0.006 | <0.006 | <0.006 | 2| <0.006 | <0.006| <0.006 | 2| <0.006| <0.006 | <0.006
21,1,1- bV 7 oo = & | mg/L 2| <0.003 | <0.003 | <0.003| 2| <0.003| <0.003| <0.003| 2| <0.003| <0.003 | <0.003
E AF)V-t-7F = —F L(MTBE)| mg/L 2] <0.0002 | <0.0002 | <0.0002 | 2 [ <0.0002 | <0.0002 | <0.0002 | 2| <0.0002 | <0.0002 | <0.0002
é‘ A EGR I VBN A )| mg/L 4 15.2 12.2 132 4 16.8 12.4 14.8| 4 11.4 9.6 10.3
LI- Y 78 =x F L v mgl 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
BN 7] ] HE(MPN/100mL| 4 [ 43000 7500 | 22000 [ 4| 430000 9300 | 130000 | 4| 93000 | 23000| 63000
H £ = i #| pS/cm 4 558 439 504 | 4 595 419 518 | 4 381 343 365

z jE2 i L7} Bl mg/L 4 6 4 5| 4 4 2 3| 4 3 1 2
w7 v # U FE| mg/L 4 42.0 33.8 37.0 [ 4 64.4 45.3 55.7 | 4 47.2 40.8 43.5
7w 17 % #| mg/L 4 8.6 7.6 8.0 4 10.6 9.3 9.8 4 16.4 12.8 13.9
Pz g (5 1 B % % ok it BOD)|  me/L 4 2.7 1.7 2.1 4 4.3 1.6 25| 4 3.6 2.1 2.7
% 4 B O % E (260nm) 4 0.084 0.064 0.074 | 4 0.108 0.073 0.093 | 4 0.058 0.047 0.053
i [ fif A Z v mg/L 4 49 30 41| 4 74 47 58| 4 39 30 34
7 v & = 7 f& % #| mg/lL 4 0.05 0.04 0.05 | 4 0.19 0.06 0.10 [ 4 0.23 0.05 0.12
| i3 fi& g #| meg/L 4 6.3 5.1 57| 4 6.8 4.1 56| 4 5.3 3.8 4.6
4 g #| meg/L 4 6.8 5.6 6.3 4 7.5 5.0 6.3 4 6.2 4.2 5.1
sua ALk O®E O A W mg/L 4 <€0.005 | <0.005| <0.005| 4| <0.005| <0.005| <0.005| 4| <0.005| <0.005]| <0.005

H MU o o~xm A H v A K RE| mg/L 2 0.098 0.086 0.092 | 2 0.095 0.061 0.078 | 2 0.056 0.043 0.050
W T AL G WA RE] mg/L 2 0.50 0.40 0.45| 2 0.41 0.37 0.39 | 2 0.33 0.32 0.33
H b Bl B 4 2620 2290 2460 | 4 2460 816 1400 | 4 562 465 518




1.5 EXEFHK(DDEF)

B oK B FPIKBRBE R 2 — W ke 2 — b2 —
HE B LR FEBRAE R TR TN ERT

A OB o A B || &om S Yy (EE & B K | EE| R B K R

kS iR c 4 32.1 9.5 202 [ 4 30.8 8.7 194 4 33.3 9.6 19.5
K i C 4 23.4 17.5 208 4 25.4 19.1 227 4 27.0 20.0 23.7
PN 15 MPN/100mL| 4 9300 430 4100 | 4 3.6 <3.0 3.0 4 3.6 <3.0 <3.0
ARIT ALK OZOIAE W mg/L 4| <0.0003 | <0.0003 | <0.0003 | 4 [ <0.0003 | <0.0003 | <0.0003 | 4 | <0.0003 | <0.0003 | <0.0003
K Kk O E O A B mg/lL 4 [<0.00005 |<0.00005 [<0.00005 | 4 [<0.00005 |<0.00005 [<0.00005 4 <0.00005 |<0.00005 [<0.00005
L v kO™ E O E W mg/lL 4 <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001| <0.001
Mk ™ F ok A W meg/L 4| <0.001 | <0.001 | <0.001| 4| <0.001| <0.001| <0.001 | 4| <0.001| <0.001| <0.001
B FE kKO ZE o E P mg/L 4| 0.0018 | 0.0012| 0.0016 | 4| 0.0012| 0.0009 | 0.0010 [ 4| 0.0007 [ 0.0006 | 0.0007
KoMl 7 2 A b A ¥ mg/L 4] <0.005| <0.005| <0.005| 4 <0.005| <0.005| <0.005| 4| <0.005| <0.005| <0.005
ffioofg B B = F| mg/L 4 0.055 | <0.004 0.018 | 4 0.066 0.007 0.033 4 <0.004| <0.004 [ <0.004
o7 Memat e ROMALS 7| mg/L 4] <0.001 | <0.001| <0.001| 4| <0.001| <0.001| <0.001| 4 0.001 | <0.001 | <0.001
7 v #F Kk W®E O A W mg/L 4 0.14 0.11 0.12 | 4 0.13 0.11 0.12 4 0.09 0.08 0.08
T FE Kk O®E O A W mg/L 4 0.05 0.04 0.05 | 4 0.10 0.08 0.10 | 4 0.11 0.09 0.10
e} iy it I’q #| mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
4- ¥ 4 ¥ | mg/L 2| <0.0005 | <0.0005 | <0.0005 | 2 [ <0.0005 | <0.0005 | <0.0005 | 2| 0.0016 | 0.0010 [ 0.0013
B '{;;112:1/2f5§§z; ;559 mg/L 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004
Y 7 m v A % | mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
FhZ 7 vu=xJF L mgl 2| 0.0012 | 0.0009 [ 0.0011| 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
Y 7 v e = F L o> mgl 2| <0.0003 | <0.0003 | <0.0003 | 2 [ <0.0003 | <0.0003 | <0.0003 | 2| <0.0003 | <0.0003 | <0.0003
~ v + >| mg/L 2| <0.001 | <0.001 | <0.001| 2| <0.001| <0.001| <0.001 | 2| <0.001| <0.001| <0.001
g # izl mg/L 4 0.001 | <0.001 [ <0.001| 4] <0.001 | <0.001| <0.001| 4| <0.001| <0.001| <0.001
o K& O % ot A& W mg/L 4 <0.1 <0.1 0.1 4 <0.1 <0.1 0.1 4 <0.1 <€0.1 <0.1
g Kk O % O {t & #| mg/L 4 0.07 0.05 0.06 | 4 0.06 0.04 0.06 | 4 0.07 0.06 0.07
Kk ™ F o A W me/L 4 <€0.1 <€0.1 0.1 4 <0.1 <0.1 0.1 4 <0.1 <0.1 <0.1
<~ H Rk OBZE O E W meg/L 4 0.077 0.028 0.057 | 4 0.049 0.033 0.041 | 4 0.003 0.001 0.002
gl 1 ¥ 4 A | mg/L 4 41 31 36| 4 49 37 45| 4 60 51 57
= A4 A4 v Rom i§ P Al me/L 2 €0.02 €0.02 €0.02 | 2 €0.02 €0.02 €0.02| 2 <€0.02 <€0.02 <€0.02
A4 A v Fom & M Al mg/L 2 0.006 0.005 0.006 | 2 0.010 0.006 0.008 | 2 0.006 | <0.005 | <0.005
7 = J  — 2 ¥l mg/L 2| <0.0005 | <0.0005 | <0.0005 | 2 [ <0.0005 | <0.0005 | <0.0005 | 2| <0.0005 | <0.0005 | <0.0005
AW (2R F#E(TOC) D )| mg/L 4 3.9 3.3 3.6 4 5.8 4.6 52| 4 5.4 4.8 5.2
pH fiEl 4 6.7 6.4 6.6 4 7.2 7.0 72| 4 7.3 7.0 7.2
B £ 4 59 K& [ 4 5 FKE [ 4 55 Tk &
) 3 i3 4 24 10 17| 4 24 14 2| 4 32 16 23
T iy B 4 2.0 1.0 141 4 1.0 0.5 08| 4 €0.5 €0.5 €0.5
X TryFECVROZDOE W mg/L 4] 0.00121 | 0.00068 | 0.00097 | 4 [ 0.00020 | 0.00017 | 0.00018 | 4 | 0.00031 | 0.00024 | 0.00028
By 7 v kX o d B mg/L 4] <0.0001 | <0.0001 | <0.0001 | 4 [ <0.0001 | <0.0001 | <0.0001 | 4 | <0.0001 | <0.0001 | <0.0001
=y r v kO ZE O E W me/L 4 0.005 0.002 0.003 | 4 0.005 0.003 0.004 | 4 0.003 0.002 0.002
oo v 7 v v = % o mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
,; k v - >| mg/L 2| <0.006 | <0.006 | <0.006 | 2| <0.006 | <0.006| <0.006 | 2| <0.006| <0.006| <0.006
201,1,1- bV 27 oo = & | mg/L 2| <0.003 | <0.003 | <0.003| 2| <0.003| <0.003| <0.003| 2| <0.003| <0.003 | <0.003
:%; AFN—t-FF )= —F /L (MTBE)| me/L 2| <0.0002 | <0.0002 | <0.0002 | 2 [ <0.0002 | <0.0002 | <0.0002 | 2| <0.0002 | <0.0002 | <0.0002
é‘ A EGR N VBN AEE )| mg/L 4 12.0 10.2 11.3] 4 15.6 13.4 14.8| 4 16.8 13.8 15.3
LI- Y 7= F L v mgl 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
PN 7] [ HE(MPN/100mL| 4 75000 4300 | 33000 | 4 930 93 510 | 4 430 43 180
H £ = i #| pS/cm 4 354 306 328 | 4 407 358 384 | 4 536 491 512

z jE2 i L7} Bl mg/L 4 2 1 2| 4 2 <1 A 4 <1 <1 <1
w7 v s U FE| mg/L 4 36.9 23.4 3.1 4 64.7 53.0 573 4 74.8 64.7 68.1
7w 17 % #| mg/L 4 8.5 7.6 78| 4 9.4 8.5 8.9 4 8.8 7.6 8.2
Pz g {2 0 B % % ok it BOD)|  me/L 4 7.1 1.3 3.0 4 1.5 0.7 1.3 4 0.9 0.2 0.5
% 4 B O % E (260nm) 4 0.074 0.058 0.070 | 4 0.099 0.080 0.093 | 4 0.128 0.102 0.117
i [ fif A 7+ > mg/L 4 41 29 35 4 30 26 28| 4 66 46 56
7 v ® = 7 & % #| mg/lL 4 0.96 0.06 0.30 | 4 0.44 0.11 0.27 | 4 0.03 €0.02 €0.02
| i3 fi& E #| meg/L 4 8.1 4.5 6.3 4 7.6 4.8 6.2 4 7.0 4.1 5.9
& £ #| me/L 4 8.9 5.8 72| 4 8.3 5.6 71| 4 8.1 5.0 6.6
s nh Kk OZE O A W mg/L 4| <0.005 | <0.005| <0.005| 4| <0.005| <0.005| <0.005| 4| <0.005| <0.005]| <0.005

H WU oNwm A B v A K BE| mg/L 2 0.047 0.030 0.039 | 2 0.090 0.086 0.088 | 2 0.083 0.072 0.078
EHEE AT AL G W AERKRE| me/L 2 0.40 0.38 0.39 | 2 0.56 0.54 0.55| 2 0.69 0.58 0.64
H b By B 4 1910 1610 1750 | 4 2530 2070 2240 | 4 3990 2670 3270




1.5 EXEFHK(DDEF)

W ok B Z=FHFIR LY BINFARTIRS L KB T L T35
ERENIVES/WN AR CRE A RN R
A OB o A B || &om S Yy (EE & B K | EE| R B K R
kS i c 4 32.8 8.3 188 4 34.2 10.1 206 | 4 31.4 12.1 20.7
K i C 4 33.4 13.5 23.8 [ 4 26.9 21.0 240 4 25.6 19.7 22.3
PN 115 MPN/100mL| 4 7500 150 2200 | 4 230 3.6 87| 4 430 15 120
ARIV ALK BZOAE D meg/L 4| <0.0003 | <0.0003 | <0.0003 | 4 [ <0.0003 | <0.0003 | <0.0003 | 4 | <0.0003 | <0.0003 | <0.0003
K Kk O E O A B mg/lL 4 [<0.00005 |<0.00005 [<0.00005 | 4 [<0.00005 |<0.00005 [<0.00005 4 <0.00005 |<0.00005 [<0.00005
L v kO™ E O E W mg/lL 4] <0.001 [ <0.001| <0.001| 4| <0.001| <0.001| <0.001 | 4 0.001 | <0.001 | <0.001
) K O F o bt A& | meg/L 4] <0.001 [ <0.001| <0.001| 4| <0.001| <0.001| <0.001 | 4 0.002 | <0.001 | <0.001
EE K QXZ oA B mg/L 4 0.0010 | 0.0006 | 0.0008 | 4| <0.0005 | <0.0005 | <0.0005| 4| 0.0050 | 0.0006| 0.0026
KoMl 7 2 A b A ¥ mg/L 4| <0.005| <0.005| <0.005| 4| <0.005| <0.005| <0.005| 4] <0.005| <0.005| <0.005
ffioofg B B = F| mg/L 4 0.046 0.011 0.021 | 4 1.41 0.100 0.469 4 0.008 [ <0.004 | <0.004
o7 et ROMAs 7| mg/L 4| <0.001 | <0.001| <0.001| 4 0.005 | <0.001 0.001| 4 0.002 | <0.001 | <0.001
7 v #F K W®E OIS W mg/L 4 0.17 0.10 0.13| 4 0.10 <0.05 <0.05 4 0.12 <0.05 0.06
T HE K OEOA YW mg/L 4 0.02 0.02 0.02| 4 0.16 0.14 0.15| 4 0.17 0.04 0.11
s} 2} 1t I53 #| mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
14 v = & ¥ v mg/L 2| <0.0005 | <0.0005 | <0.0005 | 2| 0.0011 | 0.0006 | 0.0009 | 2| <0.0005 | <0.0005 | <0.0005
* '{;;112:1/;1j§;§z;;%9 mg/L 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004 | 2| <0.0004 | <0.0004 | <0.0004
Y 7 m v A % | mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
FhZ 7 vu=xJF L mgl 2| <0.0001 | <€0.0001 [ <0.0001 | 2 [ <0.0001 [ <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
Y 7 v e = F L > mgl 2| <0.0003 | <0.0003 | <0.0003 | 2 [ <0.0003 | <0.0003 | <0.0003 | 2| <0.0003 | <0.0003 | <0.0003
~ v + >| mg/L 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001 | 2| <0.001| <0.001| <0.001
g # | mg/L 4] <0.001 | <0.001| <0.001| 4| <0.001| <0.001| <0.001| 4 0.013 0.002 0.006
o Kk O % Ot A& W mg/L 4 <0.1 <0.1 0.1 4 0.4 0.1 0.2 4 <€0.1 <€0.1 <€0.1
% K O % o {t A& Wl me/L 4 0.08 0.07 0.08 | 4 0.11 0.06 0.08| 4 4.03 1.78 2.47
Kk ™ F o bk A | me/L 4 <€0.1 <€0.1 0.1 4 1.1 0.6 08| 4 <0.1 <0.1 <0.1
v H Rk OBZE O E W me/L 4 0.032 0.015 0.024 | 4 0.024 0.012 0.017 | 4 0.278 0.158 0.194
gl 1 ¥ 4 A | mg/L 4 50 12 38| 4 33 24 27| 4 63 23 40
= A4 A4 v Rom i& P Al me/L 2 €0.02 €0.02 €0.02 | 2 €0.02 €0.02 €0.02| 2 <€0.02 €0.02 <€0.02
A4 A v Fom & M Al mg/L 2 0.006 0.005 0.006 | 2 0.043 0.042 0.043 | 2 0.009 | <0.005 0.005
7 = 7 — A H| mg/lL 2| <0.0005 | <0.0005 | <0.0005 | 2| 0.0009 [ <0.0005 | <0.0005 | 2| <0.0005 | <0.0005 | <0.0005
A (A B IR F#E(TOC) D &) mg/L 4 2.4 1.9 2.0 4 33.5 21.8 27.3| 4 5.2 4.4 4.8
pH fiE 4 7.7 7.4 76| 4 8.0 7.7 79| 4 7.4 7.2 7.3
5 kS 4 EEE S It BEE St IS 55 5K i
i) 3 i3 4 12 5 9| 4 360 200 290 | 4 70 40 53
%) iy B 4 3.0 2.0 2.3 4 75 25 39 4 5.0 0.5 2.3
X TryFECROZDOE YW mg/L 4] 0.00061 | 0.00015 | 0.00027 | 4 [ 0.00117 | 0.00073 | 0.00087 | 4 | 0.00810 | 0.00460 | 0.00583
w7 v kX o d B mg/L 4] <0.0001 | <0.0001 | <0.0001 | 4 [ <0.0001 | <0.0001 | <0.0001 | 4 | <0.0001 | <0.0001 | <0.0001
By r v kO ZE O E W me/L 4] <0.001 | <0.001| <0.001| 4| <0.001| <0.001| <0.001| 4 0.022 0.008 0.017
oo v 7 v v = % o mg/L 2| <0.0001 | <0.0001 | <0.0001 | 2 [ <0.0001 | <0.0001 | <0.0001 | 2| <0.0001 | <0.0001 | <0.0001
,; k v - >| mg/L 2| <0.006 | <0.006 | <0.006 | 2| <0.006 | <0.006| <0.006 | 2| <0.006| <0.006| <0.006
201,1,1- P U 2 oo o= & | mg/L 2| <0.003 | <0.003 | <0.003| 2| <0.003| <0.003| <0.003| 2| <0.003| <0.003 | <0.003
g AFN—t-FF )= —F /L (MTBE)| me/L 2| <0.0002 | <0.0002 | <0.0002 | 2 [ <0.0002 | <0.0002 | <0.0002 | 2| <0.0002 | <0.0002 | <0.0002
é‘ A EGR N VBN AEE )| mg/L 4 4.5 3.6 4.3 4 113 79.0 93.0 4 25.0 16.0 19.9
LI- Y 7= F L v mgl 2| <0.001 | <0.001 | <0.001| 2 <0.001| <0.001| <0.001| 2| <0.001| <0.001| <0.001
PN 7] [ HE(MPN/100mL| 4 [ 93000 4300 | 32000 | 4 4300 230 1600 | 4 4300 230 1300
& £ = i #| pS/cm 4 303 133 246 | 4 1740 1630 1690 | 4 2140 510 1660
z jE2 i L7} Bl mg/L 4 3 2 2| 4 80 43 59| 4 12 5 9
w 7 JL 71 D) Bl mg/L
% 17 i #| meg/L 4 10.2 6.5 7.9 4 6.5 5.1 56| 4 11.6 9.8 10.6
Pz gy (12 0 8 % % oK i BOD)|  me/L 4 2.2 1.2 1.6 4 24.5 6.8 119 4 1.8 1.3 1.5
% 4 M W Sk E (260nm) 4 0.028 0.024 0.026 | 4 0.661 0.506 0.580 | 4 0.208 0.116 0.154
i [ 7 fi% A % > mg/L 4 13 11 12 4 376 316 341 4 923 582 741
7 v ' = 7 & % #| mg/lL 4 1.73 0.17 1.15] 4 1.62 0.05 0.55| 4 0.27 0.09 0.18
| (i3 fi& %= #| meg/L 4 0.5 0.3 0.4 4 42.2 26.3 328 4 2.0 0.7 1.6
o g #| meg/L 4 2.1 0.8 1.6 4 46.8 35.7 392 4 3.0 1.7 2.4
sua Lk W E O A W mg/L 4| <0.005 | <0.005| <0.005| 4 0.035 0.021 0.028 | 4| <0.005| <0.005| <0.005
Hf(ﬁl‘U/\U?‘?‘/EBiﬁE mg/L
EHEW AT AL G WK RE] me/L
H bin IR E 4 281 222 262 | 4 7340 5160 5760 | 4 1330 876 1140






